INCOME TAX OUTLINE

I. INTRODUCTION 

A. Factors for Judging a Tax System



1. Fairness and equity

a. Horizontal equity – treat those similarly situated in the same way.

b. Vertical equity – those who are not similarly situated should not be treated in the same way.   



2. Efficiency

a. Tax should interfere as little as possible with people’s economic behavior.  

b. We don’t want people to engage in activities just because of the tax laws.  



3. Administrability



The simpler and more objective the system is, the better.



4. Impact of changing a rule




a. Short-term effect




b. Long-term effect


B. Progressivity


1. We generally have a progressive tax system.

2. Progressivity says that those who are better off should pay at a higher rate.

3. Reasons for a progressive tax rate


a. Fairness


b. Designed to reduce the inequities of the free market system


c. Equal amounts are income are not of equal value 



i. This is the declining utility of income.

d. Those with more income benefits more from government expenditures.


C. Credits and Deductions



1. Credits

a. Credits reduce taxes.  They are a dollar-for-dollar reduction of taxes.

b. Credits do not depend upon tax rate, except that you can’t get a credit unless you owe taxes.





i. There are very few refundable credits.



2. Deductions




a. Deductions reduce taxable income

b. The value of a deduction equals the amount of the deduction times the tax rate.  
c. The higher the rate at which the tax payer pays, the more valuable the deduction is for the taxpayer.  

D. Tax Rates


1. Average rate – this is the effective rate.



2. Marginal rate – this is the rate at which the last dollar is taxed. 

II. CHARACTERISTICS OF INCOME
A. Income in General


1. As a society we have decided that income best measures ability to pay.  



2. There are other possible ways of taxing society instead of using income:




a. Consumption tax (i.e. sales tax)





i. Pro






A. Easier to administer






B. Encourages savings





ii. Con






A. Regressive






B. Does not measure ability to pay




b. Per capita




c. Property 




d. Wealth




e. Payroll



3. Wealth v. Income

a. Wealth is the total amount you have (investment + amount realized).




b. Income looks at the gain realized.



4. Imputed income – goods and services provided to ones self or family.



5. Realization – we only tax gains that have been realized



6. Basic Computation

a. Gross income – certain above the line deductions = adjusted gross income (AGI)

b. AGI – standard or itemized deductions = taxable income

c. Taxible income x tax rate = tax before credits

d. Tax before credits – credits = tax due



7. Gross up

a. To get the pre-tax amount divide the after tax amount by 1 minus the tax rate.



8. Definitions of income




a. Glenshaw Glass




i. This is the definition of income we use.


ii. This definition looks to "undeniable accessions to wealth, clearly realized, and over which the taxpayers have complete dominion" and observing that Congress had applied "no limitations as to the sources of taxable receipts, nor restrictive labels as to their nature."





ii. This includes prizes, windfalls, and non-cash receipts. 





b. Eisner v. Macomber




i. This is the definition we used to use.



ii. Eisner v. Macomber defined income as gain derived from capital, from labor or from both.




c. Haig-Simons





i. This is a very broad definition.

ii. It includes in income consumption plus changes in the value of what is held over the accounting period.

d. The code and the regs make it clear that income can come in any form.





i. Section 61 – defines gross income 

ii. Reg. Sec. 1.61-1(a) (services and property as well as cash)

iii. Reg. Sec. 1.61-2(d)(1) (fair market value of property or services) – this deals with non-cash income.

B. Noncash Benefits 



1. Food and Lodging 

a. Benaglia v. Commissioner – Benaglia managed a resort hotel and received food and lodging that was not included in income.

i. The court held that Benaglia could exclude food and lodging from income.

ii. The court held that these expenses were for the convenience of the employer.

b. Food and lodging that meet certain specific conditions are now excluded from income under section 119, rather than under general case law. 
c. Section 119

i. Food and lodging satisfying the requirements of section 119 are excluded from income even though they clearly are an economic benefit for recipients.  

ii.   Under the statute, it does not matter whether the food/lodging is also intended as compensation if it is for the convenience of the employer.  

A. There must be a noncompensatory reason which is substantial.  

B. The noncompensatory reason does not need to be the principal reason, a test we will see in other tax statutes. 

C. Thus, room and board can be excluded from income even if they are the sole remuneration for services rendered, such as a housekeeper.  

iii. Under the statute, lodging must be a condition of employment.

iv. Meals must be furnished on the business premises.  

A. It does not matter whether a charge is made for
 meals. 

B. It does not matter whether the employee may accept or decline them.  

C. Many cases involving section 119 turn on the definition of “business premises.”

v.  The regulations specify some noncompensatory reasons for providing food and lodging.  These are safe harbors.  

vi. A taxpayer who does not fit into the situations listed in the regs can argue facts and circumstances, but can expect the IRS to give him or her a hard time.  

vii. Note especially the rules for meals: the employee must be available for emergency call, there is a peak work load during meal times, or there is a remote job site.  

viii. In general, meals are not excluded if before or after working hours, but note the special rules for restaurant workers.

ix. The statute, as amended, supercedes reg. sec. 1.119-1(a)(3)(i). 

x. If the tests are failed, the FMV of the items furnished is the measure of income, even if the taxpayer would prefer something less expensive, regardless of the cost to the employer, and no matter what is charged. 

A. The regulations state that in the absence of evidence to the contrary, the value of the lodging may be deemed to be equal to the amount charged.



2. Other Fringe Benefits 




a. Working conditional fringes

i. Working condition fringes are in-kind benefits furnished by the employer to enable the employee to perform the job properly. 

ii. In-kind compensation is fringe benefits that relieve employees of expenses that they would otherwise bear out of after-tax income.

b. Possible criteria for excluding working condition fringes from in-kind compensation:

i. Did the employee have an option to accept or reject the benefit?  

ii. Would the employee typically pay for the good or service out of after-tax dollars?  

iii. Is the benefit provided to the employee’s family?  

iv. Is the benefit provided routinely or sporadically?




c. Problems with fringe benefits

i. Fringe benefits excluded from income particularly benefit the wealthy.  This is because the benefits would be taxed at a higher marginal rate for the wealthy.  

ii. Fringe benefits can produce deadweight losses.  This happens when the employer gives an employee a benefit that the employee values the fringe benefit at a lower rate than that which the employer paid for it.  

iii. Excluding all fringe benefits from taxation would encourage a barter economy.

c. Section 132

i. This section establishes certain fringe benefits that are excluded from gross income.

ii. The categories are:


A. No-additional cost services 

B. Qualified employee discounts 

C. Working conditions fringes

D. De minimis fringes

E. Qualified transportation fringes, 

F. Qualified moving expenses, 

G. Retirement planning. 

iii. This section includes nondiscrimination rules, rules regarding lines of business, and rules specifying who is treated as an employee.  

d. Turner v. Commissioner – this case returns to the question of how to value receipt of property.  The court decided upon a value that was in the middle of that reported by the taxpayer and the amount the commissioner wanted.

C. Imputed Income 

1. Imputed income is a non-market use of property or services to produce benefits to one’s self or one’s family.  It is a non-cash increase in wealth.

2. Two main areas are owner occupied housing and childcare.



3. Imputed income creates problems of horizontal equity.



4. Why we don’t tax imputed income:




a. Invasion of privacy




b. Liberty




c. We tax people on market transactions   




d. Administrative difficulty




e. Difficulty line drawing

D. Windfalls and Gifts 



1. Windfalls

a. Punitive Damages 





i. The main case in the area is Glenshaw Glass.

ii. The court held that punitive damages are included in income. 




b. Realization

i. There must be a realization in order for there to be taxable income.

A. The issue is if the gain is enough in hand for the taxpayer to be taxed on it.

B. For instance, if stock appreciates in value, the taxpayer is not taxed on the unrealized gain.  He is only taxed when he sells the stock (i.e. has unrealized gain).

ii. Cesarini – the taxpayers bought a piano and discovered it contained $4,467.  The court held that when the money was found, that was a realization.  

iii. Variations in Cesarini
A. Buy piano at auction for $50 and it turns out to be worth $50,000 – not a taxable increase
B. Find a diamond ring inside the piano – probably taxable
C. One key of the piano turns out to be pure gold – this is not separable, so you could argue that this not taxable.  
D. Find $10,000 in cash on street – taxable 



2. Gift: The Basic Concept 




a. Gifts are not income under section 102.




b. Taxation options




We could tax:





i. The donor





ii. The donee





iii. Both





iv. Neither

c. Under the current tax rule, we tax the donor and not the donee. The donor makes the gift out of after tax funds.  

d. Gift tax


i. Gift tax is separate from income tax.

ii. There is a $12K per donor per donee limit each year.  The donor must pay gift tax if such gifts exceed $1,000,000 per year. 

iii. Although gift tax is separate from income tax, whether the donor treats the item as a gift may help show the donor’s state of mind under Duberstein and thus affect income tax consequences for the donee.

e. Duberstein is the key case defining gift for purposes of the income tax.  

i. The standard for a gift is “detached and disinterested generosity.” 

ii. This is a subjective standard.  

iii. It makes the tax consequences for the donee depend on the state of mind of the donor.

f. Under section 102(c), gifts from employers to employees are included in income.

i. The language of the statute is absolute, but the legislative history indicates that the provision is not intended to go so far as to require employees who invite their employers to their weddings to include the value of any wedding gifts in income.

g. Section 274(b) denies a deduction for gifts made directly or indirectly to any individual to the extent that such expense exceeds $25.  This denial of deduction represents a form of surrogate taxation 

h. Our treatment of gifts show the influence of our notion of family.

i. In US v. Harris, the two twins were considered his companions, so the money they received was considered a gift and not income.

ii. The court in Harris held that a person is entitled to treat cash and property received from a lover as gifts, as long as the relationship consists of something more than specific payments for specific sessions of sex.



3. Transfer of Unrealized Gain 




a. In general

i. Realization occurs when there is a transaction that represents a sufficient change for us to impose income tax. 

ii. Basis matters for calculating gain or loss upon sales, exchange, disposition, or some other realization event.

A. Amount realized (AR) – Adjusted basis (AB) = Gain realized GR/ Loss realized (LR)

B. AR is everything the seller receives in the sale.

C. AB is what is recovered tax-free. This is often the seller’s investment.  

D. GR is the amount on which tax will be paid.

b. Inter vivos gifts

i. Under section 1015(a), in most cases, the basis to the donee of an inter vivos gift is that of the donor’s basis (carryover basis).

A. This was the holding in Taft v. Bowers.  We tax the donee on any appreciation that accrued while the donor held the gift. 

ii. The donee is taxed on the appreciation that accrued while the property was in the hands of the donor.

A. This is a pro-taxpayer rule, because in general, gifts are made from those in higher tax brackets to those in lower tax brackets.

iii. There is an exception under 1015(a) for determining loss. 

A. This exception establishes a special rule that applies only when the FMV is less than the basis at the time of gift. 

B. It is used only in testing for loss

C. If the special rule applies, the donee’s basis for calculating loss is the FMV at the time of the gift.

1. Example: A gives B stock with a basis of 100 and FMV of 40 at time of gift.  B sells the stock for 30. B’s loss is only 10 and not 70.

2. If the FMV is less than basis at the time of gift, and the donee ends up disposing of it when the FMV is greater than basis, the donor’s basis is used to determine the gain.  

D. The purpose of the rule is to avoid the shifting of built-in losses.

E. There are certain transfers that will give rise to neither gain nor loss.  This will occur when the FMV is less than basis at the time the gift is made and the donor sells the property at a price somewhere between the FMV at the time of the gift and the basis at the time of the gift. 


1. Example:  A gives B property with a basis of 500 and a FMV of 300 at the time of the gift.  B sells the property for 400.

F. When the special rule applies, we test for gain and loss separately.



1. Use the general rule to see if there is gain.



2. Use the special rule to see if there is loss. 

iv. If the FMV is greater than basis at the time of the gift, we use the general rule.  The donee takes the donor’s basis to test for both gain and loss when the donee disposes of the gift.

1. Example:  A gives B stock with a basis of 40 and an FMV of 100 at the time of 
gift.  B sells the stock for 10.  B’s loss is 30.  
v. Section 1015 Chart
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c. Gifts from a decedent

i. The basis rule under section 1014 for gifts received from a decedent is more generous.

ii. The donee takes the FMV at the time of death as the basis.  In most cases, this will be stepped up basis.




d. Gifts of principal vs. income on gifts

i. Irwin v. Gavit – this case held that a gift of principal is exempt form tax as a bequest and that the income on the gift (in this case a bond) is taxable to whoever gets it.





ii. The result in this case is no codified in section 102(b).




e. Present value





i. Present value allows us to compare future amounts.





ii. Table 1-3 on P. 31 gives present values.




E. Recovery of Capital 



1. In general




a. Gain and loss are measured by using basis.




b. Basis represents the after-tax, unrecovered investment.




c. Allocating basis





i. Sometimes we have to allocate basis.

ii. If things are bought at the same time and are equal, you can allocate basis equally amount the things.  

iii. In almost all cases, if the properties are not identical, we must apportion basis equitably according to relative fair market value. 

iv. Reg. 1.61-6 gives the rule on equitable apportionment.  

A. When part of a larger property is sold, the cost or other basis of the entire property shall be equitably apportioned among the several parts, and the gain realized or loss sustained on the part of the entire property sold is the difference between the selling price and the cost or other basis allocated to such part.

B. We use this rule unless applying it becomes too difficult. (This is what happened in Inaja.)

2. Sale of easements 

Inaja Land Co. v. Commissioner – The court held that the settlement in this case should go toward recovering basis.  

a. Instead of allocating basis as if part of the land had been sold when the taxpayer granted an easement to the city of Los Angeles, the court allowed the taxpayer to recover basis first.

b. The taxpayers still had the property and continued to own it.  This was treated as a partial sale.  

c. In this case, the equitable apportionment rule was too difficult to apply.

d. The court allowed the very unusual and pro taxpayer rule of recovering basis first. 

3. Life insurance




a. Life insurance receives favorable tax treatment.




b. There is term life insurance and whole life insurance.




c. Whole life insurance is life insurance with a savings component.  

d. Section 101(a) excludes all life insurance proceeds from income completely.  
4. Annuities and pensions




a. In general 

i. Annuities are usually retirement contracts, purchased from an insurance company, that call for periodic cash payments beginning at a certain date and continuing until death.

ii. Insurance companies can pay back more than the original investment because they earn interest on that investment.

iii. The price charged depends on how much longer the purchaser is expected to live, the rate of interest the company expects to earn, and the amount the company charges for providing the service.

iv. There are three ways the annuitant could recover basis: first, last, or pro rata.


A. We follow the pro rata approach

B. Allowing income to be recognized pro rata favors the taxpayer because he pays tax later rather than sooner.  

C. This is not the most accurate approach.  

b. The formula

i. The formula uses the multiples from the life expectancy tables in reg. 1.72-9.

ii. Formula:


A. Take each payment

B. Multiply it by a fraction

1. Numerator of fraction is investment

2. Denominator is expected return

a. Expected return is the annual return times return multiple (life expectancy)
iii. Payment x Investment/ expected return =  basis recovered annually

c. If you live a long time and recover your entire investment, then you are taxed on everything after that.

F. Recovery for Personal and Business Injuries


1. Recover for loss of business property

a. Recoveries for loss of business property are taxed to the extent insurance proceeds exceed basis.


b. Amounts recovered for lost earnings are taxed. 

2. Damages for personal injuries in general

a. Loss of human capital is difficult because we have no basis in human capital.

b. Section 104(a)(2) excludes form income recoveries for physical injuries.

i. It excludes from income “the amount of any damages (other than punitive damages) received (whether by suit or agreement and whether as lump sums or as periodic payments) on account of personal physical injuries of physical sickness.”

c. We need to compare those who receive recovery and those who don’t. (We can’t just compare victims with non-victims.)

i. If a person is injured and does not recover damages, he can’t deduct his expenses. 

ii. We don’t treat recovery and non-recovery in the same way.  

iii. Example: 

A. I suffer a physical injury and receive $5000 in damages. No income to me.

B. You suffer an injury and receive nothing in damages. No deduction for you.


3. Medical expenses and other recoveries

a. Employer provided medical insurance and recoveries under it are excluded from income under sections 105 and 106.   

i. It can be provided in a discriminatory way and it doesn’t matter.  

b. Individuals who must pay for their own medical care and who itemize deductions can deduct medical expenses to the extent they exceed 7.5% of AGI.  

i. Section 213 permits medical expenses, including premiums paid for medical insurance, to be deducted only to the extent that in the aggregate they exceed, for the taxable year, 7.5% of AGI.

ii. The taxpayer can only exclude the amount that is above 7.5% of AGI.  

G. Transactions Involving Loans and Income from Discharge of Indebtedness 



1. Loan proceeds are not income

a. Loans are not income because the tax treatment of loans is premised on the assumption that the taxpayer will pay the loan in full.  

i. If and when that assumption proves false, reconciling tax adjustments are made.

ii. A loan is not treated as producing income to the borrower because the cash received is offset by a corresponding liability.  

iii. Similarly, the repayment in full of a loan is not treated as producing a loss because the cash paid out is offset by a decrease in liabilities, resulting in no net loss.

iv. Also, under Haig-Simons a taxpayer has income only to the extent that the taxpayer has enjoyed an increase in net wealth.

b. The loan transaction is not an event for tax purposes.  


i. The loan transaction is separate from the use of the funds.

c. It is important to distinguish between payments of interest on the loan and repayments of the principal of the loan.  While loan proceeds are not income, we have different rules for the different kinds of interest. 

2. Recourse vs. nonrecourse loans

a. On a recourse loan, the debtor is PERSONALLY liable to the creditor.

i. The creditor can go after the debtor’s assets if the debtor fails to pay.

b. On a non-recourse loan, the creditor can only go after the property pledged as security if the debtor fails to pay.


i. The creditor is entitled to the security and nothing more.  


ii. This usually changes after people refinance their homes. 



2. True discharge of indebtedness

a. Under section 61(a)(12)True forgiveness of debt is income.  Cancellation of debt = COD. 

i. There are special provisions that apply when forgiveness of debt occurs in connection with bankruptcy.

ii. We calculate the amount of COD income according to the difference between the dollar amount of principal lent and principal repaid, even though these different amounts may be economic equivalents.

A. We treat the principal owed as a static amount.  
B. We do not adjust for the fair market value of the bond, or the value of U.S. dollars, or for the effect of inflation.

b. One reason why a lender may discharge debt is because interest rates have changed. 

i. There is an inverse relationship between the value of a bond and the market rate of interest.




c. Kirby Lumber
i. The rule in this case is that COD income is a tax adjustment made when the assumption that a loan will be paid back proves false. 

ii. This rule applies regardless of how the borrowed funds are used.

iii. This case is ONLY a debt discharge case.




d. Paying the net amount

i. Example: I owe you $10,000 for services rendered, and you owe me $6,000 for services rendered.  I write you a check for $4,000.
ii. The proper answer for tax purposes is NOT that you have $4,000 of income.

iii. I have $6,000 of income. You have $10,000 of income. Writing the net check did not change our incomes for tax purposes.



3. Misconceived Discharge Theory (Textbook pp. 150, 159-163)

a. Sometimes something that looks on the surface as if it were forgiveness of debt is seen not to be so when analyzed properly.  
i. Example: if I owe someone $25,000 and my lender agrees to accept services from me worth $25,000, there is not forgiveness of debt.  I do have $25,000 of ordinary income. 
ii. Example: if I owe the money to my grandparents, and on my graduation from law school, they tell me they “forgive” the debt, I have a gift, and not COD income.

b. These misconceived debt discharge cases are an example of an important principle for tax law:  what looks on the surface like one category for tax purposes may prove, when analyzed and separated according to the underlying transactions and economics to be properly characterized in a very different way. 
c. If someone assumes another’s debt, the person has income because this repayment produces a benefit for the debtor. We act as if cash has been transferred to the debtor and the debtor uses the cash to repay the outstanding debt.  

d. Part sale/ part gift

i. Diedrich – The parents had stock that had appreciated in value.  They gave it to their children under the condition that their children pay the gift tax.  The issue was whether this was wholly a gift or not. The court held that this was a part sale and a part gift.  

ii. The Diedrich rule is a special basis recovery rule. It applies when there is a part sale/ part gift to an individual in one simultaneous transaction where he is both the donee and purchaser.

A. Under the Diedrich rule, the donor is allowed to recover his basis first.

B. If a donor allocates all of his basis to the sale portion, there is nothing left to allocate to the gift portion.


C. The donor’s amount realized is the sale portion minus the basis allocated to the sale portion.  

D. The donee’s basis in the property is in Reg. Section 1.1015-4.  

E. Reg. Section 1.1015-4 describes this special basis rule for a transfer that is part sale and part gift as the greater of (a) the amount paid by the transferee for the property, or (b) the transferor’s adjusted basis for the property at the time of transfer.



iii. The bargain sale rule

A. The general allocation rule for a part sale/ part gift is found in Reg. Section 1.61-6.

B. The bargain sale rule of section 1011(b) applies when there is a part sale/ part gift and the part gift counts as a charitable contribution.  

C. Under this rule, we treat the sale as one transaction and the gift as another transaction.

D. Example: One of Frank’s stock investments has done very well.  He bought the stock for $20,000, and it has now increased in value to $100,000.  This appreciation has put him in a giving mood.  However, he also has a debt of $40,000 that he must pay. 2.
Frank transfers the stock to Loyola Law School on the condition that Loyola Law School pays his $40,000 debt.
1. Since the stock is worth $100K, it is as if he sold 40% of his stock.  

2. We allocate 40% of his basis to the sale ($8K).  His gain from the sale is $32K. 
3. We allocate 60% of his basis to the gift portion.

4. This means that Loyola’s basis is $100K ($40K + $60K).



4. Transfer of Property Subject to Debt 

a. Since for the most part we include borrowed funds in basis, amount realized includes recovery of those borrowed funds when calculating gain.

i. That is, we treat liabilities of which the seller is relieved as if the seller got the money (and used the money to pay off the lender and the lender then relent to the buyer).  

ii. For the most part, we use the same rules whether the debt at issue is recourse or non-recourse.




b. Depreciation deductions

i. For assets used in income-producing activities that last more than one year and decline in value, the tax law allows a system of cost recovery, also known as depreciation, that permits a deduction for some part of the property’s basis each year, according to specified schedules.





ii. Depreciation deductions adjust basis.





iii. Depreciation deductions reduce income.

iv. Depreciation deductions are an exception to the realization requirement. 

v. How depreciation deductions work:

A. For real estate only the building, not the land, can be depreciated (i.e. subject to cost recovery).  
B. The cost is recovered equally each year over a number of years specified in the code.  The number of years specified is different for residential and commercial buildings.  
C. You don’t get to have cost recovery for the home you live in.  
D. We have restricted the amount of deductible loss to the amount at risk for many kinds of investments.  

1. In most cases, amount at risk does not include non-recourse loans, although in the case of real estate, non-recourse loans from third parties are considered at risk.  

E. The passive activity rules further limit the ability to take loss deductions. 

F. We have not, however, permitted lenders to take depreciation deductions on the amounts of their non-recourse loans. 
vi. Crane – She was able to take the depreciation deductions each year because she included the amount of the mortgage in her basis for the property.  

A. The Supreme Court said that Mrs. Crane benefited from treating this non-recourse liability as if it was a personal liability.  

B. If she didn’t include it in her basis, her depreciation deductions would have been far less.  

vii. Tufts – Tufts raised the question of what happens in the property is worth less than the outstanding nonrecourse mortgage. 
A. The Supreme Court held that the amount realized includes relief of even a nonrecourse mortgage greater than the property’s FMV, given that the amount of the mortgage was included in basis.
B. The government treats the taxpayer as having received sale proceeds in the amount of the loan balance, even though the value of the land is less than the mortgage the partnership could, if it had chosen, simply walked away from the complex.
viii. In Tufts and Crane, debt was included in basis to generate depreciation deductions; thus, debt, whether assumed recourse debt or non-recourse debt to which the property was subject, must be included in amount realized to calculate gain.  When a taxpayer defaults on a non-recourse liability, amount realized includes the full amount of the loan.  

A. In part, the rules of Tufts and Crane are rules of symmetry. 


B. Economic and tax consequences should eventually match.

ix. When a buyer assumes recourse debt, the debt is not forgiven.  The lender is allowing someone else to become responsible for the debt.  For a non-recourse loan, we always treat it as if it has been paid.

A. Assumption of a mortgage by the buyer or the buyer’s taking property subject to a mortgage is NOT cancellation of indebtedness for the seller.

B. We treat the transaction as if the purchaser had paid the seller cash and the seller had paid off the loan in full.

x. The tax code never allows negative basis.

xi. Foreclosure/ taking the property in satisfaction of the loan.

A. This is an exception to the general rule. This is one situation in which we treat recourse and nonrecourse borrowing differently. 

B. If a creditor seizes a building which secures a non-recourse loan, the amount realized is the amount remaining on the note.  

C. If a creditor takes the building in satisfaction of a recourse debt, the amount realized is the FMV.  There is COD income for the difference between the amount owed on the loan and the FMV.  

1. Example: If the bank takes a building worth $850k in satisfaction of a $900k recourse debt when AB is $850k:


a. AR = $850k (FMV of building)

b. Minus AB = $850k

c. GR = $0

d. BUT there is also $50k of COD income, the difference between the outstanding principal and the value of the property the bank receives.
2. The big issue when a bank forecloses on a house with a recourse loan is the FMV of the home.

a. It may depend on state law.

b. It may be what bank bids at auction.

c. There have been abuses by banks. 
D. However, for 2007 – 2009 there is a special set of rules, and you don’t have to include the COD in income. 

A. This is under the Mortgage Forgiveness Debt Relief Act of 2007

B. Taxpayers may exclude debt forgiveness from income if: 
1. If it is on their principal residence

If balance on loan was less than $2 million

2. Debt must be forgiven in 2007, 2008, or 2009

3. Debt must have been used to buy, build or substantially improve home

4. Refinancing also qualifies - up to amount of principal just before refinancing


5. Nonrecourse Borrowing in Excess of Basis 

a. Borrowing against appreciation in a piece of property neither generates basis in that property nor produces realization of income.


i. This is the holding in Woodsam Associates.

ii. Even if amount borrowed nonrecourse against appreciation exceeds basis, we do not recognize gain.

b. However, if the property is sold subject to the liability, it is included in the amount realized. 


i. Example:

A. I buy a piece of land for $100k.  I used $20k of my savings and borrowed $80k nonrecourse.

B. The property appreciates to $230k and I borrow an additional $120k nonrecourse.  I use the money to buy stocks and bonds.

C. My AB in the property remains $100k.

D. If I sell it for $50k in cash, and the buyer takes the property subject to both mortgages, my AR is $250k.




ii. Example: I buy non-depreciable property for $10K.
A. I pay with $2k of my own funds and borrow $8k nonrecourse.

B. My basis is $10k.

C. My property appreciates in value to $40k and I borrow an additional $20k nonrecourse.

D. I have no gain; my basis remains $10k.

E. I sell the property for $22k and subject to both
 mortgages, when all principal remains outstanding.

F. My AR is $50K, my AB is $10k, and my GR is $40k.

iii. A nonrecourse borrower gets the benefit of any appreciation in the property above the amount of the loan. 




c. Key points

i. Borrowed funds are not income, but we generally get to treat borrowed funds as our own for tax purposes.

ii. AR includes relief or assumption of borrowed funds or taking property subject to a mortgage.

iii. We can get basis for borrowed funds.  

iv. Borrowing against appreciation does not in itself generate basis.
III. PROBLEMS OF TIMING


A. Gains From Investment in Property 



1. Origins 

a. Eisner v. Macomber – The stockholder received one new share for each two shares she already owned. The total amount of money she had was still the same.  This case addressed three issues:

i. One issue was the constitutionality of a tax on unrealized appreciation.
The court held that taxing unrealized appreciation is unconstitutional.

A. In no case since Macomber has the Supreme Court ruled that a federal revenue statute violated the 16th Amendment.  

B. The Court has not overruled Macomber, but has confined the decision to its facts.  

C. Scholarly consensus is now that Congress has the constitutional power to tax unrealized appreciation.

ii. Statutory interpretation and unrealized appreciation.

A. The case continues to be associated with the doctrine that the code normally will not be interpreted as including unrealized appreciation in income.  

B. That is, nontaxation of unrealized appreciation is still a fundamental aspect of our federal income tax.  

C. If Congress wishes to override that rule, it must do so clearly.

iii. Treatment of stock dividends.

A. How to treat stock dividends is an example of competing analogies.  Getting another share of stock as a dividend is like my getting a cash dividend and buying another share of the stock.  This is because I still have the same % interest in the corporation and I had no choice about the form of my investment.  

B. The result in the case remains the law today, although now a statutory provision governs.  

C. A pro rata stock dividend of common stock on common stock does not result in taxable income.

D. Other types of stock can be treated differently.

E. A cash dividend is treated as income. 



2. Realization 

a. In general

i. Income includes gain realized on sales and exchanges.  Loss on sales or exchanges can reduce taxable income.

A. Often, but not always, such gains and losses are capital, in which case they will be subject to special rules and special rates. 

 
ii. Under section 1001 AR – AB = GR (LR)

A. The gain realized will be included in income unless a special non-recognition provision applies.


iii. If we do not know the value of what the seller receives, we look to the value of what the taxpayer gives up.  

A. We assume that in arm’s length transaction between unrelated parties, the values will be the same.




iv. Realization and the time value of money

It is better to recognize gain and pay taxes later as opposed to sooner.
b. Realization vs. Recognition

i. Realization is a time when enough has happened that we could very well impose a tax.

ii. Recognition is a change in circumstances such that gain or loss is taken into account.  

A. Not only could be impose tax, but we in fact do impose tax.

B. Usually, realization and recognition happen at the same time.  

1. However, the Code includes a variety of special non-recognition provisions.

2. One example of a non-recognition provision is section 1031.

iii. The requirement of realization is to be contrasted with a pure economic or Haig-Simons definition of income.



A. We do not tax until some event takes place.

B. Because of the realization requirement, ours is a tax on transactions, not on income in the economic sense.



C. Identifying a realization event is not always easy.  

D. The Supreme Court in Cottage Savings said that a difference in legal entitlements is a material difference constituting a realization event.

iv. The "definition" of a realization event is in section 1001.  

A. The provision speaks of a sale or other disposition.

B. This is an important provision. Tax lawyers say to each other, “Is this a 1001 event?”

C. This language, however, has been both stretched and shrunk; it is both overinclusive and underinclusive.

1. One example of it being underinclusive is that making a gift is a disposition, but is not treated as such for purposes of this provision.

2. It seems overinclusive in that, for example, collecting insurance proceeds for a fire or having a property become worthless is considered section 1001 realization event.

v. Also, the regulations are somewhat stricter on when a loss has been realized than when a gain has been realized.  

A. Until an actual sale or disposition there remains the possibility that the taxpayer may recover or recoup the adjusted basis.  

B. In general, loses are not taken into account until some identifiable event occurs fixing the actual sustaining of a loss and the amount thereof.

c. Losses 

i. Cottage Savings – There was an increase in interest rates so savings and loans were making exchanges mortgages.  They did not want to have losses for non-tax purpose, but they did want to have losses for tax purpose. The mortgages that were exchanges were substantially identical.

A. The issue was if the losses were realized under section 1001.

B. Section 165(a) allows a business that has a loss to deduct it.

C. The court held that there is a materially difference because the mortgages are legally distinct entitlements.  The loans were to different borrowers and there were different securities.

D. If legal titles are swapped, there is a loss or gain realized and recognized. 

E. The advantage of this rule is that it allows for ease of administration.   



3. Gain on the Sale of a Home 




a. Section 121 

i. Section 121 gives special treatment for the sale of your principle residence.

ii. It is required that you have used the home as your principle residence for at least two of the past five years.





iii. Excluding gain






A. Individuals can exclude up to $250K of gain.

B. Married people filing jointly can exclude up to $500K of gain.

iv. This provision can only be used once every two years with some exceptions.

A. There are exceptions for change of place of employment, health, etc.

b. There is no longer a rollover provision for sales and repurchase of homes. 

4. Express Non-recognition Provisions – Section 1031

a. General rule – under section 1001(c) – “except as otherwise provided in this subtitle, the entire amount of the gain or loss, determined under this section, on the sale or exchange of property shall be recognized.”

b. Section 1031 is a special non-recognition provision that applies to the exchange of property held for productive use or investment.

c. Section 1031(a) provides: “(1) In general. – No gain or loss shall be recognized on the exchange of property held for productive use in a trade or business or for investment if such property is exchanged solely for property of like kind which is to be held either for productive use in a trade or business or for investment. (2) Exception. – This subsection shall not apply to any exchange of – (A) stock in trade or other property held primarily for sale, (B) stocks, bonds, or notes, (C) other securities or evidences of indebtedness or interest, (D) interests in a partnership, (E) certificates of trust or beneficial interests, or (F) choses in action. . . .”

d. Section 1031 permits nonrecognition – deferral of realization – at least in part, if we swap like-kind property held for permitted purposes.
i. The “price” for nonrecognition and the method for deferring gain recognition is carryover or substituted basis.

ii. You must swap; you cannot satisfy the statute if you receive cash and later buy like-kind property with the cash. 

iii. Certain kinds of triangular and escrow arrangements are permitted and important out in practice as ways to comply with the statute without a direct trade.

e. Section 1031 is not elective, but it is easy to avoid.


i. You won’t want a 1031 is there is a loss.

ii. The statute egins by seeming to require only a swap of qualifying property, but boot it permitted.  (Boot is non-qualifying property.)  

f. Like kind


i. The property exchanged and acquired must be like kind


ii. For personal property, “like kind” is narrow.

A. Double eagle gold coins and Swiss currency NOT like kind

B. Double eagle gold coins and South African Krugerrands are NOT like-kind.
iii. For real property, “like kind” is broad and the rulings are generous.


A. Urban real estate and a ranch are like-kind
B. Improved and unimproved land are like-kind
C. Fractional interest in minerals on rural land and fractional interest in city hotel lot are like-kind



g. Permitted purposes

i. Both the property given up and that acquired must be either held for productive use in trade or business or held for investment. 

ii. Inventory property or other property held for sale in the ordinary course of business is NOT eligible for section 1031 treatment. 
A. Example: for a shoe manufacturer, shoes are inventory; the shoe-making machine is held for productive use in a trade or business.

iii. It is okay under sec. 1031 for the taxpayer to exchange property held for productive use for investment property or vice versa.  The two properties do not both have to be held for the same permitted purpose.

A. That is, the taxpayer doing the exchange can mix and match, trading property held for one of the permitted uses for property held for the other.





iv. Be careful of gifts

A. It is okay to swap a ranch for another ranch and give the ranch to children 9 months later.

B. It is not okay to swap a farm for residential properties chosen by kids and in which kids lived for free until gift.  



h. Test each party to the exchange separately

i. To test each party to the exchange separately, ask how that person held the property given and that acquired.

ii. Example: Consider the farmer and the dealer when farmer exchanges old tractor plus cash for new tractor.

A. The tractor is property used in trade or business for farmer.

B. It is inventory for dealer.



i. Property not eligible for 1031 treatment





i. Properties not included are:






A. Stocks, bonds, notes

B. Other securities or evidences of indebtedness or C. Interest

D. Interests in a partnership

E. Certificates of trust or beneficial interest

F. Choses in action
 
ii. Reasons



A. These assets excluded are closer to cash.

B. One of the purpose of section 1031 is to permit nonrecognition for illiquid  investments, when the taxpayer has not “cashed in.” 

C. Thus, recognition is required when assets are liquid.


5. Boot and Basis 

a. If a taxpayer gives up only qualifying property and receives only qualifying property, the new qualifying property will take a basis equal to that of the old qualifying property.

i. When the taxpayer disposes of the new qualifying property in a taxable exchange, the deferred gain will be recognized (so long as the property did not subsequently decrease in value.)

ii. Section 1031, however, permits such deferral only if the taxpayer has not cashed out or otherwise changed the nature of his or her investment.

b. To the extent that the taxpayer receives “boot,” the taxpayer changes the nature of the investment and must recognize gain.  
i. “Boot” in the case of section 1031 may be money or other nonqualifying property (property that is either not like-kind or not held for permitted purposes).  Non-cash boot is often referred to as “other property.”  

c. The gain recognized because of the nonqualifying portion of the exchange will be the lesser of boot received or gain realized.

i. No matter how much boot taxpayer receives, gain recognized cannot exceed gain realized. 
ii. Moreover, receipt of boot does not trigger recognition of loss on the like-kind portion of the exchange.  Section 1031(c) specifies that receipt of boot does not trigger recognition of loss. A $15K realized loss is deferred.
A. Example: Taxpayer exchanges Old Farm, with an adjusted basis of $90K and a FMV of $75K, for New Farm, with FMV of $65K, cash of $3K, and a tractor worth $7K.  Loss realized is $15K.  No loss is recognized.  
iii. Example: Taxpayer exchanges Old Farm, with an adjusted basis of $10K and FMV of $75K, for New Farm, with  FMV of $65K, cash of $3K , and a tractor worth $7K.  Gain realized is $65K, the same as above, but gain recognized is now $10K.  Gain is recognized to the extent of boot, which here is $10K (the amount of cash and the FMV of the tractor).  Boot of $10K is less than gain realized of $65K.  $10K of gain is recognized, and recognition of $55K of realized gain is deferred.

iv. Example: Taxpayer exchanges Old Farm, with an adjusted basis of $10K and FMV of $75K, for New Farm with a FMV of $5K, cash of $63K, and a tractor worth $7K. Boot is $70K.  Gain realized is $65K.  Since boot exceeds gain realized, Taxpayer must recognize the entire realized gain of $65K. No recognition of realized gain is deferred.
d. Boot that is paid is not entitled to nonrecognition treatment.  Paying boot is a disposition of the property and such disposition does not get the benefit of nonrecognition.

i. When boot is used as part of the property transferred, gain or loss must be recognized on disposition of the boot.  
ii. Thus, loss is recognized in a like-kind exchange if and only if boot with a built-in loss is transferred as part of the payment for a like-kind exchange. 

iii. Example: Taxpayer exchanges Old Farm with an adjusted basis of $10K and FMV of $75K along with a painting with a basis of $5K and an FMV of $20K for New Farm, which has an FMV of $95K.  Total gain realized is $80K ($65K on farm and $15K on painting). Taxpayer must recognize $15K of realized gain on the disposition of the boot.  The $65K of realized gain on the disposition of the farm is deferred.

iv. Example: Taxpayer exchanges Old Farm with an adjusted basis of $10K and an FMV of $75K along with a painting with basis of $35K and FMV of $20K for New Farm, which has a FMV of $95 K.  Taxpayer realizes a gain of $65K on the farm and a loss of $15K on the painting.  Taxpayer must recognize the $15K of realized loss on the disposition of the boot.  The $65 of realized gain on the disposition of the farm is deferred.

e. Basis in the new qualifying property must be such that exact amount of gain that went unrecognized on the exchange would be recognized if the new qualifying property were sold for its FMV at the time of the exchange.  

i. Once we have calculated a number for the basis of the new qualifying property, we check ourselves by engaging in a “hypothetical sale.”  
ii. If we sold the new qualifying property for its current FMV, would we then recognize any gain or loss that had been realized earlier but deferred?  If so, we can be sure we did not make any arithmetic errors.    



f. Determining and allocating basis

i. Determining basis

A. The basis of all property (including cash) transferred plus any gain recognized (whether because of boot received or because of boot paid) and minus any loss recognized on transfer of boot gives us the total basis for everything received by the taxpayer. 
B. Another way to calculate the “pot of basis” is:

1. Basis of all qualifying property given up

2. PLUS gain recognized because of boot received
3. PLUS basis of boot paid (includes face value of cash)
4. PLUS Gain or loss (as a negative number) recognized because of boot paid 
ii. Section 1031(d) gives the rule for allocating basis. 

A. First we allocate basis to boot.  Boot can be money, nonqualifyfing property, or both.  

1. First, we assign money basis equal to its face amount.  

2, Next, we assign basis to non-cash boot (also called “other property”).  It takes FMV as basis.  

B. The number that remains after these adjustments is the basis of the new qualifying property. (We allocate this in proportion to FMV if there is more than one new qualifying property.)



g. Steps in the analysis of like kinds exchanges




i. Whose exchange are we evaluating?

ii. Are the properties excluded from section 1031?  If the answer is yes, go no further.

iii. Are these like-kind properties?  If the answer is no, go no further.

iv. Will both the property acquired and the property given up be held for one of the two permitted purposes?

v. How much gain is realized?

vi. Is boot received?

vii. Is boot paid?

viii. How much gain is recognized on the like-kind portion? (On the like-kind portion, gain realized is recognized to the extent of boot received.)

ix. Is any gain or loss recognized because of payment of boot? (Think of payment of boot as separate from the like-kind transaction.)  

x. What is total basis to be allocated among properties? (Basis of old like-kind property plus gain recognized on like-kind portion of transaction plus FMV of any boot paid.) (FMV of boot paid equals basis of boot paid plus gain recognized or minus loss recognized on boot paid.) 

xi. Is any cash received? (Cash receives its face amount as basis) 

xii. What is the fair market value of non-cash boot received? (Non-cash boot received takes its FMV as basis.) 

xiii. What basis remains to assign or allocate to qualified property?

xiv. As a check on your calculations, ask yourself how much gain would be recognized if we were to sell the new like-kind property for its current fair market value?     

B. Transfers Incident to Marriage and Divorce

1. Example of the general rule: If you owe someone $5K and you pay with stock worth $5K with a basis of $1K, there is a gain of $4K.  

2. Davis – Davis transferred stock to his wife to settle their divorce. He argued that the transaction should be considered a division of property.  The court rejected this and treated this as a normal transaction.  


a. The rule in Davis is no longer the law.

b. The Davis rule was better for the wife than the current rule because under the current rule her basis in his stock would be his basis.

c. The new rule would be better for the husband because under the new rule he would have no taxable gain.  

d. Davis is still important for the principle that if you don’t know the value of what was received, but know value of what was given up, use the latter because we assume the two are equal.



3. Section 1041

a. Now for transactions between spouses and former spouses for divorce, we use section 1041.  

b. Under 1041 there is non recognition for transfers to spouses and former spouses incident to divorce.  

c. It is treated as a gift.


i. The transferee gets the transferor’s basis. 


ii. The transferor has no taxable gain.  

d. There are no special basis rules for built in loss.

e. This is a very powerful section.  It trumps other rules.  



4. Transactions that do not fall under section 1041

a. Farid-Es-Sultaneh – Kresge transferred stock in contemplation of marriage. In this case, she took as her basis the FMV at the time of the transfer.  She did not take his basis.  Farid-Es-Sultaneh got the stock in exchange for marital rights.  Her basis in the marital rights is $0 and she is receiving $800K. 

b. If Farid-Es-Sultaneh arose today, it would not fall under 1041.  This is because the parties were not married at the time the agreement took place.  


C. Cash Method of Accounting
1. In general

a. Individuals are generally on the cash method of accounting and not on the accrual method.


b. Under the cash method revenue and expense are recognized at the time cash is received or paid out, regardless of when claims or obligations arose.


c. The regulations further specify that generally under the cash method all items that constitute income (whether in the form of cash, property or services) are to be included in the taxable year in which they are actually or constructively received.

2. Constructive Receipt 

a. The rule for constructive receipt is that a taxpayer may not deliberately turn his back upon income and thus select the year for which he will report it.

b. Reg. sec. 1.451-2(a) specifies:  "Income although not actually reduced to a taxpayer's possession is constructively received by him in the taxable year during which it is credited to his account, set apart for him, or otherwise made available so that he may draw upon it at any time or so that he could have drawn upon it during the taxable year if notice of intention to withdraw had been give.  HOWEVER, INCOME IS NOT CONSTRUCTIVELY RECEIVED IF THE TAXPAYER'S CONTROL OF ITS RECEIPT IS SUBJECT TO SUBSTANTIAL LIMITATIONS." 

c. Common examples of constructive receipt include uncashed dividends, undeposited salary checks, matured interest coupons, interest on savings accounts.

d.  More generally, items constructively received include "items that could be turned into cash with a stroke of the pen, but that the taxpayer deliberately or inadvertently fails to present for payment of otherwise process in the normal fashion," that is, when the delay in converting into cash is purely voluntary.




e. Payment fixed by contract

i. Some of the most difficult issues arise when the date of payment is fixed by contract.

ii. Generally, the date specified for payment by contract is controlling and payment is not constructively received before that date even if the obligor would have agreed at the outset to an earlier date or would have paid before the due date.

iii. The due date and the date of inclusion can be postponed even further if the postponement occurs before the date the payment is due under the contract and the postponement is supported by consideration.
iv. Postponement of an amount already due does not postpone taxation, even if the further postponement is supported by consideration.

v. Amend – Amend did the cash method of accounting.  The contract was formed in 1944, the wheat was delivered in 1944, and the money was paid in 1945. Under the contract, he didn’t have right to payment until 1945. 

A. The court held that since he did not have the right to receive payment until 1945, he did not have constructive receipt in 1944.

B. So if B put the money in an account for A not to be disbursed until 1945, it would be taxed in 1944.  This is because this right to the money at a later date would have a FMV.




f. Substantial limitations


i. While items are not constructively received if receipt is subject to substantial limitations, an inconsequential condition, such as submitting a document for cancellation does not prevent constructive receipt.

ii. Examples of substantial limitations preventing constructive receipt include:

A. Having to surrender an insurance policy to receive the cash surrender value

B. Having to retire to receive severance pay

C. earning interest at a substantially lower rate if earnings are withdrawn from a savings account prior to a specified date.   



3. Economic benefit/ cash equivalence doctrine

a. Income includes not only cash but also the fair market value of property received.  

b. Under the economic benefit doctrine, the taxpayer must have actual receipt of some kind of property or right to receive property in the future in order to be taxed.

c. Often, the answer to whether there is a present economic benefit turns on whether what is received is capable of valuation.  Can it be marketed, sold, or converted into cash?  Is there a market for it?

i. For example, breeding rights in thoroughbred stallions is included in income at the time of receipt if the rights are freely transferable, readily marketable, and immediately convertible to cash."  If they are not marketable, there is not income at the time the contract is executed.     

d. The hardest issue under economic benefit or cash equivalence is the promise to pay in the future.

i. A naked promise to pay is not cash equivalent or economic benefit for a cash basis taxpayer.  

ii. This is the biggest difference between cash and accrual accounting.  For an accrual basis taxpayer, accounts receivable (a promise to pay) must be reported.

iii. The difference between a naked promise to pay and one that is "clothed" is not clear; the authorities are not consistent.

A. Clearly, a public company's marketable bonds given as payment for services would be taxable.

iv. Other criteria seen in the cases include whether the instrument is negotiable and a comparison between the discount at which the instrument can be sold and the generally prevailing premium for the use of money (the greater the disparity, the less likely that the instrument will be considered a cash equivalent).   

v. There is an inverse relationship between financial security and tax security. The more financial security, the more the risk that the instrument will be taxed as a cash equivalent.

vi. Consider a cash basis taxpayer who wishes to defer income, but is worried about the obligor's financial security and thus contracts for segregated accounts, deposits in escrow, or other security arrangements.

e. Pulsifer – The dad and kids won the sweepstakes. The kids couldn’t be paid because they were minors.  It was held until they were 21.  The kids were taxed on the money. This is because of the economic benefit doctrine.  

A. They actually didn’t have to wait until they were 21 because the father could have applied for the money.  Therefore, they could have also been taxed based on constructive receipt.  



4. Constructive receipt vs. economic benefit

a. While analytically quite different, discussions of the two doctrines of constructive receipt and economic benefit often appear in the same cases.  

b. Constructive receipt asks whether the taxpayer could get the cash or cash equivalent without significant effort or limitation.

c. Economic benefit asks whether what the taxpayer does have is a cash equivalent.


D. Deferred Compensation 

1. Drescher – Bausch & Lomb bought an annuity contract for Drescher.  They deducted the cost of the annuity contract but Drescher didn’t include the annuity contract in his income.  

a. The issue in this case is if he should be taxed now or later on the policy.  

b. The IRS argued that he should be taxed on the amount the company paid for the policy.  

c. Drescher argued he should be taxed on nothing right now.  He argued that he cannot assign the policy.  He didn’t have access to the policy.  He had no choice about taking it.  There was no cash surrender value.  He could not pledge it as security for a loan.  

d. The court held that the contract had some present value to Drescher that was less than what the company paid for the policy.

e. The dissent argues that this rule was what executives would want because it would make the taxable amount less right now.    

2. Minor – The doctors could put up to 90% in the trust.  This money was not set aside irrevocably.  The general creditors could get at the amounts in the trust.  This trust was a naked promise to pay them.  They don’t have special rights to the money even though it is set aside for them.  


a. The court held that none of it was taxable at that time.

b. The court held that although this plan stretched the limits of a non-qualified deferred compensation plan, the plan was an unfunded, unsecured plan subject to a risk of forfeiture.

3. Olmsted Incorporated Life Agency – Olmstead Inc. Life Agency entered into a new contract with an insurance agent that gave the agent an annuity. This was a revision of a promise of compensation from the employer. 

a. This is considered a naked promise because it came from the same employer.




b. This case has been limited to its facts.  

c. The cash equivalents doctrine usually comes into play when the money does not come from your employer.  

4. Sproull???

E. Annual Accounting and Its Consequences 



1. The Use of Hindsight 

a. Burnet v. Sanford & Brooks Co. – This was a dispute with the government over a contract to dredge a river.  The company lost money on the contract.  They sued the government for the cost and ended up with their expenses plus interest.  Their expenses exceeded what they received from the Government in 1913, 1915, and 1916.  However, in 1920 they recovered the expenses plus interest.  

i. For the company, this award was nothing but recovery of capital.  The company had to report income in 1920.  

ii. This case is important because it demonstrates that we have an annual, not a transactional, method of accounting.  




b. We don’t use the transactional method because:





i. You could defer indefinitely





ii. It would be difficult to calculate




c. Section 172 – net operating losses

i. Section 172 applies only to business losses.

ii. Section 172 allows you to carryover your losses either 2 years back or 20 years forward.

iii. There are special rules that apply where a corporation has an NOL and there is a change of ownership. 

iv. There are special rules for the application of section 172 to individuals.

A. (d)(1) provides that you do not include NOLs to calculate NOLs.

B. (d)(2) provides that, while capital gains are included in income, capital losses are included only to the extent of capital gain (i.e., they zero out capital gains).

1. There is a separate provision for carryover of capital losses.

C. (d)(3) provides that no personal exemption deductions are allowed in calculating an individual's NOL.

D. (d)(4) provides in general that no nonbusiness deductions (such as charitable contribution deductions, or mortgage interest deductions on one's home) are allowed in calculating an individual’s NOL.

1. When the provision says that deductions not attributable to a trade or business are allowable only to the extent of the amount of income derived from such trade or business, it refers, for example, to deductions and income related to hobbies such as farms.  The provision allows such income to be zeroed out by such deductions, but the deductions cannot generate an NOL.


2. Claim of Right 

a. The claim of right doctrine applies to both methods of accounting.

b. North American Oil Consolidated – This case was about a dispute with the government regarding ownership of land that produces oil income. The income earned in 1916. The money was paid to the  company in 1917 after District Court’s final decree. 


i. The claim of right doctrine applies in this case.

c. United States v. Lewis –He had to give back the bonus.  He got a deduction at the time.  By the time he took the deduction he had a lower rate.  

d. Under the claim of right doctrine expounded in North American Oil Consolidated, a taxpayer is taxable when the taxpayer:

i. Receives funds;

ii. Treats the funds as its own; and

iii. Concedes no offsetting obligation.  
iv. It does not matter that the claim is disputed and later settled or abandoned.

e. Section 1341

i. Section 1341 allows the taxpayer who has to pay back funds received under a claim of right to use either the tax rate in the year of repayment or the tax rate in the year the monies were received.  
ii. That is, the taxpayer can choose which year’s applicable rate produces a lower tax.  

iii. This section, however, has been interpreted narrowly and applies in only limited circumstances.


3. Tax Benefit Doctrine 

a. A taxpayer includes a recovery of funds in income to the extent and only to the extent that the funds generated a tax benefit for the taxpayer in a prior taxable year.
b. The tax benefit rule has an inclusionary and exclusionary aspect.

i. Full benefit in earlier year, full inclusion in later year.
ii. No benefit in earlier year, not inclusion in the later year.

iii. Some benefit in earlier year, some inclusion in the later year.
iv. Refund of state tax payments shows the inclusionary and exclusionary aspects of the tax benefit rule.

c. Common examples where tax benefit rule applies:


i. Recovery of bad debts

ii. Recovery of taxes paid

iii. Recovery of theft loss

iv. Recovery of worthless asset



d. Tax benefit rule is part annual and part transactional





i. It is annual in that the tax rates in year of recovery apply.

ii. It is transactional in that the amount of income included depends on the extent to which income in earlier year generated a benefit.
e. Alice Phelan Sullivan Corp – The case involved recovery of a charitable gift of property and the consequences of the recovery under the tax benefit doctrine.




f. The scope of the tax benefit doctrine is now somewhat uncertain.  
The tax benefit rule will ‘cancel out’ an earlier deduction only when . . . the latter event is indeed fundamentally inconsistent with the premise on which the deduction was initially based.”  Bliss Dairy

F. Open Transactions, and Installment Sales


1. Open Transactions 

a. Burnet v. Logan – this case demonstrates the open transaction doctrine.  The amount of money that Mrs. Logan would receive was unknown.  Because of this, the court held that she could recover her basis first.

b. The open transaction doctrine is that you are allowed to recover your basis first.

c. It is rare that there would be an open transaction today; most transactions like this would fall under the installment method.  Authorities disagree about the extent to which taxpayers can elect out of the installment method and treat the transaction as open.



2. Installment Method 




a. Section 453 contains the installment method.

b. It is a special method of accounting that either cash basis or accrual method taxpayers can use.  




c. The installment method requires:





i. Disposition of property

ii. At least one payment made after the close of the taxable year after the disposition takes place.




d. Limitations

i. Dealers cannot use the provision. That is, inventory is not eligible for installment treatment.




ii. It is not available on publicly trained debt. 

iii. In some cases, interest must be paid the government on tax deferred.




e. The general rule

i. Under the installment method, to know how much of each payment is taxable (assuming adequate interest), multiply each payment (including any 'down payment,' whether in cash or property, in the year of disposition), by a fraction the numerator of which is the gross profit and the denominator is the total contract price.





ii. Gross profit is total contract price minus basis.

iii. Total contract price is the face amount of the note or notes plus any payments made in the year of disposition.

A. Total contract price does not include interest payments.

B. Total contract price is not necessarily the same as the FMV of an installment note, since, depending on the riskiness of the issuer, FMV may be less than face value.

iv. Special rules, for which you will not be responsible, apply when property sold is subject to a liability assumed by the buyer.




f. Special rules

i. If you do not know the exact amount of the contract price, but you know the maximum possible, use the maximum for your calculations.

ii. If you do not know the maximum of the contract price, but do know the maximum period of time over which payments will be made, allocate basis in equal amounts over that time period.
iii. If neither maximum amount nor maximum time period is known, recover basis under the installment method in equal amounts over 15 years.
A. This is an unlikely scenario.  The regulations state that such arrangements will be closely scrutinized to determine whether a sale has in fact occurred or whether the arrangement in fact represents rents or royalties.  
B. The facts of Burnet v. Logan may in fact fall into this category – her future payments depended on the ore recovered.



g. Open transactions

i. Taxpayers can elect out of the installment method and treat the transaction as closed.

A. If a taxpayer elects out of the installment method and treats the transaction as closed, they take all of the gain in one year rather than spreading it out.

B. A person may choose to do this if they think that the tax rates will go up.

ii. Cash basis taxpayers include the FMV of the installment note/notes in amount realized.

iii. Accrual basis taxpayers include the face amount of the note.

h. Economic benefit/ cash equivalence  

i. If I receive a naked promise to pay in the form of installment notes and elect out of installment treatment, I must assign a FMV to those notes.  

ii. Essentially, in such transactions, Congress, by statute, has overridden the economic benefit/cash equivalence doctrine.  

iii. For cash basis taxpayers, economic benefit/cash equivalence applies to deferred compensation or accounts receivable, but not to dispositions of property.

iv. Example: If my employer promises to pay me $5,000 five years from now, I have income only in the future, when I receive the money.  If the same employer promises to pay my neighbor $5,000 five years from now as part of a property purchase, and my neighbor elects out of the installment method, my neighbor must assign a FMV to the promise to pay $5,000 and include that amount in income now.  

G. The Accrual Method 



1. The accrual method

a. For accounting purposes, the accrual method is used to determine periodic income and financial position.  
b. Revenue is recorded when products are sold, services are provided, or enterprise sources are used.  
c. Furthermore, the method seeks to match the costs of producing revenues to the recognition of the revenues.
d. It the right to receive income, not its actual receipt, that determines its inclusion in income.

i. If I am an accrual basis taxpayer and perform service for you in year 1 and get paid in year 2, I have income in year 1.

e. However, the accrual method does not call for income to be accrued when a contract is executed.
f. The liability of a lessor or employer is contingent upon compliance with the obligations under the agreement. Until then, events generating the obligor’s liability will not have yet occurred. 

g. Interest accrues only over time, not when the note is signed.

2. Georgia School Book Depository – The taxpayer argued that there was not a reasonable expectancy of payment. The court rejected this argument.  The court held that the taxpayer had income for tax purposes under the accrual method.  



3. Accrual accounting for tax purposes vs. financial accounting purpose

a. Accrual basis for tax accounting differs in some important ways from financial accounting.  One is advanced receipts of prepaid income.
b. These two systems of accounting have different objectives.

i. Financial accounting needs to prevent management, shareholders, etc. from being misled.

ii. Tax accounting aims at equitable collection of revenue and protecting the public fisc.

iii. Unlike financial accounting, treasury does not aim at understatement of income if a matter is in doubt.


4. Validity of a claim vs. collectibility of a claim




a. Doubt as to whether there is a claim generally prevents accrual.

i. We do not include amounts in income if the claim is in doubt unless we have the cash. 

ii. That is, the claim of right doctrine applies to accrual basis taxpayers for tax accounting purposes, even though a disputed claim would not be accrued for financial accounting purposes.


b. Doubt as to when the claim will be collected generally does not prevent accrual.

i. Generally, under the accrual method we include amounts in income even if the collectibility is in doubt.

ii. There is a narrow exception for insolvency


5. Accrual of income and expenses for accrual basis tax payers

a. The general rule for taking an expense as an accrual-basis taxpayer is found in Reg. sec. 1.461-1(a)(2):  ‘[A]n expense is deductible for the taxable year in which all the events have occurred which determine the fact of the liability and the amount thereof can be determined with reasonable accuracy.”

i. There is much debate about “all events” and “reasonable accuracy.”

c. Accrual of income


i. Include amounts in income:

A. When all events have occurred that fix the right to receive the income; and

B. The amount of the income can be determined with reasonable accuracy.


ii. On the income side, when you have all events, the regulations allow a bit of flexibility. 

iii. There must be a clear reflection of income and consistency with GAAP.




d. Accrual of expenses





i. Deduct amounts as an expense when:

A. All events have occurred that establish the fact of liability; and

B. The amount of liability can be determined with reasonable accuracy;

C. Economic performance requirement of section 461(h) has been satisfied.

ii. All events

A. The all events test is generally taken to mean that an expense item must be accrued when the taxpayer’s liability is fixed and the amount is reasonably determinable. 

B. In General Dynamics, the Supreme Court held that to satisfy the all-events test, the actual filing of a claim was necessary before a corporation self-insuring a medical reimbursement plan for its employees could deduct the costs of medical service.  

1. The act of filing is not a mere technicality or a ministerial detail; it is the last link in the chain of events creating liability for purposes of the all events test.

2. The court refused to sanction the expense accruals on the basis of statistical or actuarial estimates of liability (absent express statutory authorization)

iii. Economic performance

A. Also, section 461(h) adds the requirement of “economic performance.”

B. Section 461(h) – income vs. expense


1. Income

a. Liability arises out of services or property provided by the taxpayer.

b. Economic performance occurs as the taxpayer provides the property or performs the services


2. Expense

a. Liability arises out of services or property provided to the taxpayer.

b. Economic performance occurs as the taxpayer uses the property or services.

C. Why Congress added the economic performance requirement:

1. Concern that taxpayers were deducting currently the full amount of payments to be made over a long period of time and not just the present value
2. That is, the concern was time value of money.
D. Economic performance does not include money. except as specifically provided in the statute, economic performance generally does not occur as payments are made. 

E. Example:  Worker’s compensation claim


1. A worker has suffered a long-term injury.  

2. The fact of liability is established.  

3. The worker will get $50k a year for life and his life expectancy is known to be 20 years.

4. The amount of liability can be determined with reasonable accuracy.

5. Before sec. 461(h), the employer would argue for a deduction of $1,000,000 in year 1.
6. Sec. 461(h) prevents this result.





F. Example: Reclamation costs

1. A mining company has stripped land.

2. Under state law, it must restore the land.

3. The fact of liability is established.

4. Assume that the cost of reclamation can be determined with reasonable accuracy.

5. The reclamation will take many years.

6. Before sec. 461(h), the mining company would argue for a deduction of full costs in year 1.

7. Sec. 461(h) prevents this result.
iv. Capitalization – If an expenditure results in the creation of an asset having a useful life which extends substantially beyond the close of the taxable year, it will not all be deducted in that year. It will be capitalized. (This is also the rule for cash basis taxpayers.)



6. Advanced receipts of prepaid income.  

a. Accrual basis tax payers generally include prepaid income in income when it is paid.  

i. Under GAAP, in contrast, advanced payments are not accrued until earned by the performance of the taxpayer’s obligations

b. American Automobile Association v. United States –AAA was reporting some of the prepaid income in the next year.  The court held that it must be reported in the year it is received.  




c. Section 456





i. After AAA, Congress passed this section.

ii. It allows membership organizations on the accrual method to spread prepaid dues over the period of responsibility for the performance of services.

iii. This does not apply to for profit organizations.  It only applies to cooperative entities.  

d. Section 455 is an exception to the general rule for prepaid subscription income.
e. There is a narrow administrative exception for payment received in one year for services to be rendered before the close of the following year.  
IV. PERSONAL DEDUCTIONS, EXEMPTIONS, AND CREDITS

A. Introduction 



1. Section 262

a. Unless expressly provided in the Code, there is no deduction for personal, living or family expenses.
b. The reason is because if we deducted personal living expenses, we would be deducting consumption and taxing savings. 

2. All individuals get to deduct the personal exemption and either take the standard deduction or itemize deductions.  
a. The personal exemption for 2009 is $3650.  
b. The standard deduction for 2009 for an individual is $5700 and $11400 for a married couple filing jointly.

B. Casualty Losses
1. Section 165(c)(3) allows casualty losses to be deducted. The losses can be deducted if the “…losses of property not connected with a trade or business or a transaction entered into for profit, if such losses arise from fire, storm, shipwreck, or other casualty, or theft.”
 

a. Suddenness is what matters.  If something is the result of normal wear and tear, it is something that the taxpayer should be prepared for.

b. Under the section, the government essentially acts as an insurer to extent of marginal rate on loss deducted.

i. The policy issue is: Should the government insure those who choose to live in dangerous places? 
c. What is “other casualty”?   

i. Termites – no

ii. Lost engagement ring – sometimes.

2. Dryer – There was a broken vase.  The cat had a fit and knocked it over. In order to claim the loss, they needed to show that the fit was sudden and unexpected.  The court did not allow the deduction.     
3. Chamales – They purchased a house by O.J. Simpson.  They claimed a casualty loss.  The court held that this isn’t covered.  The loss was not a permanent loss. 

4. Blackman – Blackman found out his wife was cheating on him so he set her clothes on fire.  He said he put out the fire before leaving the house.  The house burned down.  He claimed the casualty deduction of the house.  The court didn’t allow the deduction for policy reasons.  The court said that he was grossly negligent.  

5. There are two limits on casualty deductions:

a. Per incident $100 is taken away/ 

b. Money can only be collected to the extent it exceeds 10% of AGI.

6. Casualty loss is the lesser of either basis or economic loss.

7. Steps in the analysis for casualty loss deductions:

a. Calculate economic loss (decline in economic value) by comparing value before and after casualty. 

b. Compare the economic loss to the adjusted basis in the property and take the lower of these two numbers.  

c. Reduce the number you obtained in b by any insurance proceeds received. 

d. Reduce the number you obtained in c by $100. 

e. Calculate 10% of AGI. 

f. Subtract the number you obtained in d from the number you obtained in e. This number, if positive, is the amount allowed as a casualty loss deduction.  


C. Extraordinary Medical Expenses 



1. Section 213 has a medical care deduction.

a. Expenses must exceed 7.5% of gross income and are only deductible to the extent they exceed this threshold. 






b. Section 213(d)(1) defines what medical care is. It includes:





i. Diagnosis of disease

ii. Cure of disease

iii. Mitigation of disease

iv. Treatment of disease

v. Prevention of disease

vi. Purpose of affecting structure of function of body

vii. Certain transportation costs

viii.Certain lodging costs


2. Examples from IRS publication 502 on Medical Expenses\




a. Acupuncture – yes

b. Vasectomy – yes

c. Crutches – yes

d. Guide dog – yes

e. Hair transplant – no

f. Health club – no

g. Marijuana – no

h. Teeth whitening – no


3. Cosmetic surgery




a. Cosmetic surgery is not included.

b. The IRS has just argued that gender reassignment surgery is cosmetic.
4. Taylor – The taxpayer did not meet his burden of showing that these were medical expenses. He did not show that other family members could not do the activities in question.

5. Henderson – The Henderson’s got a van for their son.  The issue was if they could deduct the depreciation on the van.  The court held that depreciation is not an expense paid within 213.  

6. Ochs – Mrs. Ochs had cancer.  She could not take care of her children so she sent them to boarding school.  This is what the Dr. told her to do.  The court held that this was a personal decision and not a medical decision.  


D. Charitable Contributions 

1. There is a deduction for contributions to qualifying organizations that can be deducted if itemized. 

a. Such organizations include schools, museums, churches, social service organizations.

b. There are limits on how much AGI can be reduced in a year.  

c. Any quid pro quo reduces the deduction.


2. There is a deduction for money or property but not for services.




a. Donation of blood is treated as a donation of services. 


E. Interest 


1. In general




a. Section 163 allows interest deductions for individual taxpayers. 

b. For individuals, section 163(d)(1) permits deduction of investment interest only to the extent of investment income.

i. Example: 

A. I borrow money to buy bonds and stock and pay $1200 in interest on that loan in Year 1.

B. I get $1000 in payment of interest and dividends in Year 1. 

 

C. How much of the interest I paid can I deduct?

D. Answer: $1000




ii. The reasons for the limit are:






A. To match income and expense.

B. To prevent current deduction with deferred taxation of property appreciation – time value of money.   
c. To determine if interest is deductible, we look at what the money was used for and not what secures the loan.

i. Security does matter, however, for section 163(h), especially for home equity loans, and for section 265(a)(2). 

d. If borrowed funds are mixed with funds that are not borrowed in the same bank account, complicated rules govern.  In general, it is as if the borrowed money is oil and the other money is water.  It is assumed that after 15 days the borrowed funds rise to the top and what thereafter comes out of the account first is the borrowed funds.  (Thus, it may be better to open separate banking accounts.)



2. Qualified residence interest

a. Section 163(h) disallows deductions for personal interest with exceptions, including that for qualified residence interest. There are two categories of qualified residence interest.





b. Acquisition indebtedness





i. Limit of $1 million total in principal.

ii. Debt incurred in acquiring, constructing or substantially improving any qualified residence of the taxpayer.

iii. Secured by the residence.

iv. Refinancing limited to outstanding debt at time of refinancing.

v. Principal residence and one other residence used as such.  



c. Home equity indebtedness





i. Limit of $100,000 total in principal

ii. Indebtedness secured by residence

iii. Also limited to excess of FMV of residence reduced by amount of acquisition indebtedness

iv. Can be used for ANY purpose.



d. Qualified residence interest raises the issue of horizontal equity.

i. The horizontal equity problem could be solved by imputing income for the rental value of a residence.

ii. Interest would then be appropriately deducted as part of the cost of earning such income.

iii. Imagine imputed rental income of $10k per year and interest deduction of $10k per year.


3. Section 265(a)

a. Section 265(a) disallows any interest deduction for indebtedness incurred or continued to purchase or carry tax-exempt obligations. 





i. An example is state and municipal bonds.




b. The reason for this rule is to prevent arbitrage.

i. Arbitrage is taking advantage of different rates on two sides of a transaction.

ii. In this case, the rule prevents taking in tax-exempt interest and paying tax-deductible interest.



c. For Section 265(a)(2) to come into play:





i. Simultaneous existence is not enough.

ii. BUT any time you borrow to purchase a new asset, you borrow not only to get the new one, but also to avoid disposing of an old asset.



d. Tests for section 265(a)(2)

i. Direct evidence of a purpose to buy tax-exempts is not okay
ii. Pledging currently-owned tax-exempts as security for a new loan not okay
iii. Generally, borrowing to purchase or improve a residence is okay, even if you own tax-exempts.

iv. Having a home mortgage and then using new funds to buy tax-exempts is probably okay

v. There is less certainty with home equity indebtedness



4. Interest on loans for higher education

a. Section 221 allows a deduction of up to $2500 for interest on loans for higher education of the taxpayer, spouse, or dependent.

i. The allowable deduction is phased out as income increases above $50k ($100k for joint returns).

A. The phase-out requires that a fraction be calculated as specified in the code.

B. The $2500 deduction will be REDUCED by that fraction.
ii. The amount of the reduction is the amount determined under this section.  It is the amount which bears the same ratio to the amount that would be so taken into account as the excess of the taxpayer’s modified AGI for the taxable year over $50,000 bears to $15,000 (or $100,000 and $30,000 for a joint return).  

A. $2,500 x (AGI – $50,000)/ $15,000

B. $2,500 x (AGI – $100,000)/ $30,000

V.   MIXED BUSINESS AND PERSONAL OUTLAYS

A. Controlling the Abuse of Business Deductions 



1. Personal vs. business expenses

a. Under section 162, business expenses can be deducted.  This includes costs such as rent, salaries, and advertising.

b. It is difficult to draw the line between business and personal expenses.

c. There are a few areas that have special rules because the business expenses have a personal element to them. 

i. Section 162(a)(2) has special rules for expenses when away from home.

ii. Section 274 has special rules for meals and entertainment. Only 50% of such expenses can be deducted.
d. Under section 67(a) there is a 2% of AGI floor for miscellaneous itemized deductions.  These deductions can only be taken to the extent they exceed 2% AGI.



2. Employees vs. self-employed

a. The Code treats the self-employed and employees differently when it comes to deducting business expenses.
b. The self-employed deduct business expenses under section 62, above the line, to arrive at AGI.

c. Under section 62(c) and section 274 (e)(3), employees exclude reimbursed employee expenses from income.

d. Under section 67, employee unreimbursed expenses and expenses for production of income are deductible only if the employee itemizes and all misc. itemized deductions exceed 2% of AGI.



3. Capitalization

a. Under sec. 263 and sec. 263A, some costs of doing business consist not of currently deductible expenses, but investments whose costs must be "capitalized" because the asset to which the costs relate will last more than one year.  

b. We use the term "capitalized" because the assets are called capital assets.  To capitalize a cost is to add it to basis.

c. Example: If I spend $200,000 to purchase a building for my manufacturing plant, I cannot deduct that cost.  I can, however, take depreciate deductions on the building.  I use my basis to calculate those deductions.

d. Example: If I spend $100,000 to purchase a building and then $150,000 to rehabilitate for use as my plant, I will capitalize the rehabilitation costs.  My basis in the building will be $250,000, and I will take depreciation deductions using the $250,000 basis.  

e. The capitalization requirement applies to cash and accrual basis taxpayer.



4. How to distinguish between personal and business expenses

a. Ask whether expense is appropriate and helpful to the business activity.

b. Ask if primary purpose is profit-seeking.

c. Ask if expense would have been made but for business

d. Ask if amount is reasonable.

e. Allocate between personal and business.

f. Ask about additional expense because of business.


5. Businesses v. Hobbies

a. The code distinguishes businesses from hobbies under section 183. 

b. The presumption of section 183 is that if gross income for 3 of 5 years exceeds deductions attributable to the activity, the activity is assumed to be engaged in for profit. 


i. There are special rules for horse racing.

c. If the presumption is not met the taxpayer


i. Must show primary purpose is to make profit.

ii. Supposedly it’s a subjective case but all facts and circumstances must be taken into account.

d. Nickerson – The Nickerson’s bought a dairy farm and deducted the expenses.  The court held that the taxpayers were doing this for profit.  The court looked at the factors and believed that it was for profit. The factors are:


i. Is activity carried out in businesslike manner.

ii. Expertise of taxpayer or advisors

iii. Time and effort expended by taxpayer

iv. Expectation that assets will appreciate

v. Success of taxpayer in similar endeavors

vi. History of income and losses

vii. Occasional profit, if any.

viii. Financial status of taxpayer

ix. Elements of personal satisfaction or pleasure
e. The tax consequences differ substantially under section 162 and section 183.  See Handout.



6. Section 280A

a. Section 280A gives the rules for both home office deductions as well as for rental of vacation homes.

i. Home offices and vacations homes are seen as subjects of tax abuse.

ii. There is frequent  litigation involving these deductions.



b. Section 280A(c)(1) governs home offices.  

i. A, B, and C have very different requirements and the flush language following adds additional requirements. 


a. A is for the principal place of business.

b. B is use by clients or customers in the normal course of business.


c. C is for a separate structure.

ii. 280A(c)(1) Certain business use. – Subsection (a) [no deduction for residence] shall not apply to any item to the extent such item is allocable to a portion of the dwelling unit which is exclusively used on a regular basis – 

(A) as the principal place of business for any trade or business of the taxpayer,

(B) as a place of business which is used by patients, clients, or customers in meeting or dealing with the taxpayer in the normal course of his trade or business;

(C) in the case of a separate structure which is not attached to the dwelling unit, in connection with the taxpayer’s trade or business.

In the case of an employee, the preceding sentence shall apply only if the exclusive use referred to in the preceding sentence is for the convenience of his employer.  For purposes of subparagraph (A), the term “principal place of business” includes a place of business which is used by the taxpayer for the administrative or management activities of any trade or business of the taxpayer if there is no other fixed location of such trade or business where the taxpayer conducts substantial administrative or management activities of such trade or business.  

iii. Popov – Popov was a musician who used her living room to practice and record.  She argued that this is her principal place of business.  
A. The Soliman case controled.  Soliman was an anesthesiologist who deducted costs for his home office.  The US Supreme Court rejected this because this was not his principal place of business.  
B. The court named two tests.  One consideration is the activities performed at each location (delivery of goods and services) and the time spent at each place.  
C. The court held in Popov that the relative importance test yielded no definitive answer.  
D. The year in issue here is 1993.  Soliman was decided in 1993.  The code language wasn’t applicable to the year in issue because it was passed after the tax year in issue.  
iv. Moller – the defendant’s had two home offices that they used for the purpose of conducting their stock trades.  They deducted the expenses for maintaining their two home offices.

A. The court looked at if they were traders or investors.  The court held that they were investors, and so they were not involved in a trade or business.   
B. The Mollers wanted to take this deduction under 280A(c)(1)(A).  The court held that they were investors and not traders because they were holding onto their investments for the long term. (A) (B) and (C) all require a “trade or business”.  

v. Whitten – Whitten was on Wheel of Fortune.  He tried to deduct his expenses of getting there as gambling losses under section 165(d).  The court held that these expenses were not gambling losses and, at best, could be deducted as misc. deductions under section 67.

vi. Henderson – Henderson was the attorney general for South Carolina.  She purchased a print and a plant as office decorations and deducted these expenses from her income under section 162(a).  

A. The test the court look at was if “a sufficient nexus existed between petitioner’s expenses and the ‘carrying on’ of petitioner’s trade or business to qualify the expenses for the deduction under section 162(a), or whether they were in essesnce personal or libing expenses and non-deductible by virture of section 262. . . . Moreover, where both sections 162(A) and 262 may apply, the latter section takes priority over the former.”  

B. The court would not allow the deductions of these expenses.

vii. A lawyer in private practice would have a better argument for deducting these expenses.  
viii. If an associate made these deductions, then what would matter is if these are reimbursed or unreimbursed expenses.   


B. Travel, Meals and Entertainment


1. In General

a. Section 274 governs deductions of entertainment, food, and travel as business expenses.  .

b. This area is a disaster area.  No one I satisfied.




c. Many of these deductions especially benefit the wealthy.

d. When these expenses can be deducted, we only allow 50% of the expenses to be deducted.

e. Complications with these deductions:

i. The taxpayer joins in the merriment.  
ii. The guests are often personal friends.  
iii. The taxpayer can control the type and level of entertainment.  
iv. We can expect back-scratching reciprocity.  
f. Travel, meals, and entertainment must be substantiated by the taxpayer under section 274(d)
2. Rudolph - the Court required the amounts the company paid for the trip to be included in the insurance agent’s income and did not allow the agent to deduct the cost as a business expense. It was treated as additional compensation to the agent.  
a. This case was under former and not current law. 
b. The court held that the expenses were personal and therefore non-deductible costs. 
c. From the company’s point of view, there was a business purpose to this trip.  It would have helped the taxpayer’s case if there were more meetings and if there was a meeting that had to happen in NY.  
 

3. Meals and entertainment

a. Section 274(n) provides that only 50% of deductible meal and entertainment expenses can be deducted.

b. Employee reimbursement

i. If the employee is reimbursed, the employer takes the deduction subject to the 50% haircut.
ii. This is governed by sections 62(c) and 274(e)(3).

iii. The reimbursement arrangement must be substantiated under an “accountable plan.”
iv. If the employee is reimbursed, he does not include the reimbursement in gross income.  (The employee does NOT include the amount in income and then take the deduction.) 

c. Section 274(k) denies a deduction for meal expenses that are “lavish or extravagant under the circumstances.”

d. Sec. 274(a)(1)(A) provides two bases for deducting an activity which is of the type generally considered to constitute entertainment, amusement or recreation. 
i. The activity is directly related to the taxpayer’s trade or business

A. Reg. section 1.274-2(c) concern “directly related” expenses.  The regulations explain that, to claim an entertainment expense deduction, under this category, the taxpayer must have “more than a general expectation of deriving some income or other specific trade or business benefit (other than goodwill) of the person being entertained;” that during the entertainment period, the taxpayer must “actively engage in a business meeting, negotiation, discussion, or other bona fide business transaction,” and the “principal character or aspect” of the combined business and entertainment” was the active conduct of a trade or business.

ii. The activity is associated with the active conduct of the taxpayer’s trade or business

A. Reg. sec. 1.274-2(d) addresses associated expenses.  Under this prong, the entertainment must directly precede or follow a substantial and bona fide business discussion.  The principal character or aspect of the combined entertainment and business activity must be the active conduct of a trade or business, but “it is not necessary that more time be devoted to business than entertainment to meet this requirement.”  
iii. The regulations explain that entertainment is interpreted in light of the taxpayer’s trade or business.

e. The amount of these expenses that can be deducted will depend in part on whether or not the taxpayer is an employee.
i. The employee can only deduct expenses to the extent all misc. deductions exceed 2% of AGI.

f. Moss – Members of the law firm had lunch together daily at a restaurant.  The court did not allow the taxpayer to deduct the lunch expenses.

i. After this case, the firm moved the lunches in-house and had the chef from the restaurant cater lunches daily  


4. Travel and Commuting

a. Travel expenses (including meals and lodging) incurred while taxpayer is away from tax home in pursuit of trade or business are deductible.

i. Meals and transportation are often deductible even if not away from home.  

ii. The deduction for meals and entertainment is limited  by section 274(n).

b. A business trip is considered travel away from home if the taxpayer may reasonably be expected to need substantial sleep or rest in order to complete the round trip.

c. The taxpayer’s tax home is generally his principal place of business.  

i. However, a taxpayer’s permanent residence becomes the taxpayer’s tax home while the taxpayer is employed for a temporary (no more than one year), as opposed to indefinite, period of time at a job location away from the general area of residence. 

ii. Thus, the taxpayer is away from home during the temporary job and can deduct meals and lodging.  See section 162(a) flush language

d. A taxpayer’s tax home encompasses the entire general area or vicinity of the taxpayer’s principal place of business, or, if applicable, the general area or vicinity of the residence.  That is, the entire metropolitan area or county can be the tax home.

e. A taxpayer is not away from home with respect to travel between the taxpayer’s residence and principal business location.  

i. Taxpayers who choose to live away from the area of their principal place of business or employment will be denied deductions for traveling expenses to the area and living expenses at the area because the expenses result from the taxpayer’s personal choice of residence location.  

ii. Example:  A taxpayer lived at his residence in Missouri while he was employed as an airline pilot based in Minneapolis.  The taxpayer lived in a hotel in Minneapolis for one month while he attended a ground training school there, as required by his employer.  The taxpayer’s tax home was Minneapolis.  The taxpayer therefore could not deduct the living expenses for the month at the hotel in Minneapolis.

iii. Flowers – He lived in Jackson and traveled to Mobile.  He had to pay for the expenses to travel.  He deducted the expenses of traveling.  The court held that this was not deductible.  A long commute to your place of business will not be deductible.  

f.  A taxpayer with two or more business or employment location generally must determine which of the locations is the principal place of business or employment in order to determine whether the away from home requirement is met.  

i. Whether a location is the principal business location depends on the facts of each individual case.  

ii. The most important factors are the amount of time spent by the taxpayer at each location, the degree and importance of business activity at each location, and the relative proportion of the taxpayer’s income derived from each location. 

iii. Note that the proportion of income is not the only factor.

g.  The costs of meals and lodging at or near minor business or employment locations away from the general area of the principal location are deductible while duties there require the taxpayer to be away from the principal location, provided the sleep or rest rule is met.  

h.  The taxpayer is considered away from home even if the taxpayer maintains a permanent residence at or near the minor business location, but the deduction is limited to the portion living expenses attributable to the taxpayer’s presence there in performance of business duties.   

i. Example:  A surgeon employed by the government in Washington D.C. earned substantial income from a medical practice in Chicago but lived in Washington D.C. with her husband while she worked for the government agency.  If Washington is her major place of business, her travel expenses to and in Chicago would be deductible, but not the expenses of living in Washington.  

ii. Thus, if the taxpayer has his or her residence near the minor place of business, some of the expenses of living would be deductible.  It is as if the taxpayer sometimes converted the home into a hotel.

i. Taxpayers who have more than one business or employment location can generally deduct transportation costs between the different places without applying the tax home rules, provided that the transportation is for business purpose.  

i. There is a special home office rule:  if the residence is the minor place of business, taxpayers generally cannot deduct traveling expenses between the residence and the principal place of business or meals and lodging expenses while at the residence. 

j. Taxpayers are never away from home if the taxpayer does not have a fixed and permanent residence because the tax home is located wherever the taxpayer happens to work.  

i. This rule can be a particular problem for salespeople, actors and entertainers.  

k. Hantzis – She was a law student at Harvard.  She got a job in NY for the summer.  She lived in Boston with her husband but got an apartment in NY for the summer.  She deducted the expenses of living in NY. 

i. The court wouldn’t allow this deduction.  

ii. She had to have a business relationship between where she came from and where she went.  Going to Harvard did not count.  

C. Clothing 
1. Pevsner – the defendant had to wear clothes sold by the store she worked in.  She didn’t wear the clothes outside of work.  She wanted to deduct the expenses as business expenses.  The court would not allow her to deduct the expenses.

2. The rules for deductibility of clothing:

a. It must be of the type specifically required as a condition of
 employment.




b. It cannot be adaptable to general usage.




c. It cannot be worn as ordinary clothing.

d. For uniforms to be deductible, they have to be distinctive.  

i. They do not have to subject the person to public ridicule or scorn.

ii. There is no deduction for military uniforms.    


D. Legal Expenses 

1. Gilmore – The husband wanted to deduct legal expenses under section 212 from his divorce on the ground that he was trying to defend his business interests.  If the allegations against him were found to be true, GM would cancel his dealerships.

A. The court held that these expenses in resisting the claims of his wife were not business expenses and were, therefore, not deductible.  



2. Origin of the claim test

a. In the case of litigation recoveries, settlements, and related fees (e.g., lawyers, accountants, appraisers), the tax characterization of awards and costs will depend on the origin of the claim, not the consequences of the failure to defeat the claim.  

b. Costs to the taxpayer may be deductible, nondeductible, or required to be capitalized depending on whether they arise in connection the taxpayer’s business or income-producing activities, personal activities, or acquisition/disposition of a capital asset.

c. One key case on the origin of the claim has stated that the rule does “not contemplate a mechanical search for the first in the chain of events which led to litigation, but rather an examination of all the facts - consideration must be given to the issues involved, the nature and objectives of the litigation, the defenses asserted, the purpose for which the claimed deductions were expended, and the background of the litigation.” 

d. The Supreme Court has stated that a recovery should be taxed in the same manner as the item for which it is intended to substitute.  

e. The expense of prosecuting a lawsuit is generally deductible to the extent the damages sought would be included in income if recovered.

f. As a practical matter, how a complaint or settlement agreement is written can have important tax consequences.  

g. Examples:

i. If you defend a claim to title on your property when your  basis and recover costs through depreciation).  If you defend the claim to the property in a divorce action, as in Gilmore, you can neither deduct nor capitalize the costs.

ii. If you sue to quiet title to land and also to collect accrued rents owed for the use of the land, the portion of the lawyer’s s fees that are attributable to the suit to quiet title must be capitalized and the portion attributable to the collection of rents can be deducted.

iii. Damages paid as a result of an auto accident directly and closely connected to business are deductible; those paid as a result of an auto accident incidentally connected to business or purely personal are not.


E. Expenses of Education 

1. Neither section 162 nor section 212 contains special rules on the deductibility of educational expenses, but this area has evoked much litigation and we have a special set of regulations.

2.  The regulations look not to the purpose of the education, but to its effect.  They attempt to distinguish three categories:

a. Personal expenses, such as an art history class that does not serve business or profit-oriented activities.

b. Business expenses, such as a doctor taking a required continuing legal education course.

c. Capital expenditures (long-term investments), such as the cost of vocational or professional training undertaken in order to qualify for entry into a new occupation.

i. This last category is not deductible, but unlike other capital outlays, it is not depreciable or amortizable over a number of years of working at a job.  
ii. Neither can the costs be held in abeyance and deducted on retirement or death.

3.  To deduct educational costs, taxpayers must pass one of the two positive tests in the regulations and avoid the two negative tests.

a. Positive tests 

The taxpayer’s education expenses must either:
i. Maintain or improve skills required by the taxpayer’s employment, trade or other business; or
ii. Meet requirements imposed by the Employer, applicable law, or regulations as a condition of RETAINING an ESTABLISHED employment relationship, status, or rate of compensation.

A. Example: Continuing legal education courses qualify, but not the bar preparation course

 

b. Negative tests
The taxpayer’s educational expenses must not:
i. Meet minimum education requirement of the taxpayer’s employment, or other trade or business; or
ii. Constitute part of a program qualifying the taxpayer for a new trade or business (whether or not the taxpayer intends to practice that trade or business).  
A. Example: Consider a CPA who goes to law school, but never intends to practice law
4.  The hardest distinction is between education that helps a taxpayer qualify for a new trade or business and education that trains for new duties in the same general type of work involved in the present employment.  Cases have found the following:

a. Lawyer and accountant – different

b. Psychiatry and psychoanalysis – same

c. Licensed public accountant and CPA – different

d. Member of NY Bar and member of California bar – different.     

5.  You must already be engaged in the business, profession or occupation in order to deduct educational expenses.  Otherwise, the expenses are not in furtherance of a trade or business.



6. Credits and deductions for higher education expenses

a. The 1997 Act introduced the Hope Scholarship Credit and the Lifetime Learning Credit under section 25A.  

i. According to the Conference Report, a taxpayer must choose for any tax year whether to use the Hope credit or the Lifetime Learning credit. 

ii. These credits apply to qualified tuition and related expenses at an eligible educational institution. 

A. Qualified tuition and related expenses include out of pocket expense (including those paid with proceeds of a loan), but not student activity fees, athletic fees, room and board, books, transportation or similar personal, living or family expenses. Section 25A(f)(1) and Committee Report. 

iii. The credits are not allowed to persons claimed as dependents on another’s tax return; instead, the person claiming them as dependents is entitled to the credit. Section 25A(g)(3).  

iv. The credits are available for the years the expenses are paid, if the education commences or continues during that year or the first three months of the next year. Sec. 25A(g)(4).

b. These credits are phased out for taxpayers for AGI, with certain adjustments not applicable in most cases, between $43,000 and $53,000 ($87,000 and $107,000 for taxpayers filing joint returns) in 2006. 

i. To determine the reduction, you will need to multiply the full credit by a fraction.  

ii. The numerator of the fraction is the extent to which the modified AGI exceeds $43,000 ($87,000 for a joint return).  The denominator is $10,000 ($20,000 for a joint return.)  

iii. Thus, if modified AGI is $48,000, the fraction will be 5/10 or 50% and you will be entitled to only 1/2 of the full credit.  

iv. If AGI is $53,000, the fraction will be 1/1 or 100% and you will be entitled to no credit.  Sec. 25A(d).

c. The Hope Scholarship Credit is a maximum of $1,500 per year PER STUDENT.  

i. It applies to 100% of the qualified tuition and related expenses paid by the taxpayer during the tax year as does not exceed $1,100 and 50% of the expenses so paid as exceeds $1,100, until the maximum is reached. Section 25A(b)(1). 

ii. The Hope Scholarship Credit is allowed only two taxable years and only for the expenses of the first two years of undergraduate education.  Section 25A(b)(2)(A) and (C). 

iii. The student must be carrying at least one-half of the normal full-time workload.  Sec. 25A(b)(2)(B).

iv. It is denied if the student is convicted of a felony drug offense. Sec. 25A(b)(2)(D).  

d. The Lifetime Learning Credit is a maximum of $2,000 per year per TAXPAYER RETURN.

i. It is allowed for 20% of qualified tuition and related expenses as do not exceed $10,000 of expenses. Sec. 25A(c)(1).

ii. It is available for undergraduate courses, graduate courses, professional degree courses attended on at least half-time basis, it is also available for any course of instruction at an eligible educational institution to acquire or improve job skills of the student. Sec. 25A(c)(2)(B).   

iii. A taxpayer may claim the Lifetime Learning Credit for an unlimited number of tax years. See Sec. 25A(c)(1). 

e. Section 222 permits deduction of up to $4,000 in qualified tuition and related expenses (as defined by section 25A(f)) for taxpayers with AGI up to $65,000 ($130,000 for joint returns) and $2,000 for taxpayers with AGI above those amounts and up to $80,000 ($16,000 for joint  returns.)   This provision, however, expired on in 2007.

f. Section 221 allows limited deductions for interest on loans to pay higher education expenses.  

VI.
DEDUCTIONS FOR THE COST OF EARNING INCOME

A. Current Expense vs. Capital Expenses; Repair and Maintenance Expenses 

1. In general

a. Items of expense are categorized as deductible or capitalizable in order that expenditures are matched with the income they generate. 

b. Current expenses are deductible in the year in which they are incurred.  

c. Business expenses for an asset with a useful life that extends beyond the year in which the expenses are incurred must be capitalized.  

i. The regulations, however, permit the costs of incidental material and supplied to be deducted in the year the supplies are purchased.  

ii. Examples of costs that must be capitalized are the cost of defending or perfecting title to property, amounts expended for architect’s services, commission paid in purchasing securities. 

d. Encyclopedia Britannica –  Encyclopedia Britannica contracted to create part of dictionary.  The manuscript it purchased would generate income over more than one year, so it had to be capitalized and deducted over time.  The court said that if Encyclopedia Britannica would have in-house workers produce the dictionary instead of contracting it out, then it would be deductible as ordinary and necessary business expenses under section 162.




e. The rule today

i. Today we have the uniform capitalization rules of section 263A.

ii. Costs of producing self-created assets, such as the in-house production of a manuscript, must be capitalized.

iii. This applies to all manufacturers.

iv. There are exceptions for marketing, advertising, and some G&A.
2. Repairs

a. Certain “repairs” are deductible under section 162; other repair costs must be capitalized under section 263.

b. Reg. sec. 1.162-4 explains that repairs can be deducted currently if the “repairs neither materially add to the value of the property nor appreciably prolong its life, but keep it in an ordinarily efficient operating condition.” 

c. In contrast, expenses that “are in the nature of replacements,” that appreciably prolong the life of the property, that make good the exhaustion for which depreciation has been permitted, or adapt property to a new or different use must be capitalized .  See reg. sec. 1.263(a)-1.  Also, expenditures that are part of an overall plan of remodeling or rehabilitation are generally treated as nondeductible capital outlays.

d. The size of the expenditure in comparison to the value of the “repaired asset” as well as whether the expense could have been anticipated seem to be important factors.  

i. If the expense is small, it is more likely to be deductible.  

ii. If it is unexpected, it is more likely to be deductible.  

iii. If the two factors clash, the relative size seems to be the more important factor.   

iv. Example: If a tornado damages the roof of a barn, the cost of replacing the roof can be deducted.  If the roof wears out from normal wear and tear, the costs of replacing the roof must be capitalized.

v. Additional factors:


A. Whether expenditures are regularly recurring

B. Whether future benefits are short-lived and variable

C. Balancing the burden of capitalizations vs. potential distortion of income
e. Facts and circumstances test

i. The test is a facts and circumstances test.  

ii. As a result, the cases and other authorities are often inconsistent. 

iii. Midland Empire Packing Co. – The Tax Court decided that lining basement walls with concrete to prevent a health hazard from oil seeping through the walls from a neighbor’s operation was a repair, not a capital improvement, because it permitted the taxpayer to continue to do what it had been doing. 

iv. Deducting repairs is an alternative to deducting a loss.  

v. Mt. Morris Drive-In – installation of a drainage system to prevent drainage onto a neighbor’s land had to capitalized because, according to the Sixth Circuit, its need was foreseeable.  




f. Repairs required by law

i. Whether an asset becomes more valuable and increases useful life as a result of expenses required for compliance with applicable law is particularly uncertain.  

ii. Hotel Sugrave – costs to install a sprinkler system in a hotel to comply with the city fire code were required to be capitalized.  

iii. In Rev. Rul. 94-38 certain required environmental remediation costs for damage produced by the taxpayer’s own activities were held to be deductible because they put the land back into the status quo ante.  

A. Ongoing soil remediation – deduct (compare value  of asset before and after condition that required expenditure) 

B. Groundwater treatment facilities – capitalize
iv. Rev. Rul. 2004-18 – Effect of section 263A means that otherwise deductible environmental remediation costs must be capitalized if allocable to inventory.

v. Northwest Corp. – Removal of asbestos must be capitalized if part of overall plan of rehabilitation.

g. In approaching a problem involving repairs, consider the various factors, how important each factor seems in this case, and whether any of the published authorities seem to be particularly analogous.

B. Depreciation, ACRS and Investment Credit
1. Depreciation is of enormous practical and theoretical importance to the tax system

a. In practice it is largely the province of accountants rather than lawyers.

b. Accelerated cost recovery system (ACRS) governs most tangible assets.

c. “Amortization” is the term used for intangible assets.
2.  Depreciation deductions serve three very different purposes

a. Tax deductions for economic loss in value
b. To recover investment
c. To encourage investment
3.  Depreciation deductions are an exception to the realization requirement. They reduce income and adjust basis.

4. ACRS is pro-taxpayer

a. It is front-loaded or accelerated.

b. In allowing more than economic depreciation in early years, it serves as an incentive to investment in equipment.  

5.  We have statutory recovery periods.  

a.  There are six classes for personal property.  

b. Three, five, seven and ten year property uses 200% declining balance method.

c. Fifteen and twenty year property uses 150% declining balance.

d. Real property uses the straight line method.  

i. The recovery period is 27.5 years for residential real property and 39 years for other real property (commercial property). 

ii. Real property is under the mid-month convention, and the full-year deduction is pro rated according to the number of months the property is in service during the year.

iii. These methods treat all property as being put into service in the middle of the taxpayer’s year.



e. How it works

i. If the straightline method is used, the entire cost will be recovered ratably over the recovery period. The amount of the year's depreciation deduction does not change as the adjusted basis changes.
ii. Double declining balance method

A. Under the 200% declining balance (or double declining balance method), you apply the same percentage to the adjusted basis for each year's depreciation deduction. 

B. The percentage stays the same, but the amount of the depreciation deduction changes each year.

C. The percentage can be determined in a couple of ways. 

1. You can simply double the percentage deduction allowed for the first year under the straightline method. 

2. You can divide 200% by the recovery period (200% divided by 5). For five year property, the percentage is 40%.

D. The percentage is applied to the adjusted basis each year until the first year that a straightline deduction is more than the deduction under the declining balance method.

1. Here, however, the straightline deduction is obtained by dividing the ADJUSTED BASIS by the REMAINING useful life of the property (not the original basis by the original useful life).





iii. Mid year convention

a. Both methods are subject to the midyear convention.

b. The property is deemed to have been placed in service on the date that is in the middle of the taxpayer's taxable year. 
c. Thus, only 1/2 of a full year's depreciation deduction is allowed for the taxable year that the property is placed in service.

6. Intangibles  

a. There used to be a great deal of dispute about the treatment of intangibles such as good will, going concern value, and other intangibles.  

b. In 1993, Congress enacted a new provision, section 197, that allows 15-year amortization for the purchase of specified intangibles.  

c. Section 197 applies as well to copyrights, patents, and know-how.  


C. Ordinary and Necessary 

1. To be deductible under section 162(a) costs must be ordinary and necessary expenses.

2. Gilliam – Gilliam was on an airplane on business.  He took a prescription medication.  He began acting irrationally and hurt another passenger.  There was a criminal and a civil suit against him.  He settled the civil suit with the passenger he attacked.  He wanted to deduct the settlement as an ordinary and necessary business expenses.  Another way to frame this would be to look at if this could be a reimbursed legal expense.  

a. The court held that this was not deductible because it was not an ordinary and necessary expense.

b. The court distinguished this case from Dancer where the costs incident to an accident that occurred while driving a car en route to a business meeting were deductible.

3. Usually what is ordinary and necessary is left up to business judgment unless is it wildly idiosyncratic. 
VII.
CAPITAL GAINS AND LOSSES

A. Background, Statutory Framework and Policy 



1. In general

a. For individuals, capital gains are usually from real estate and securities.
b. Right now, we have a number of different categories with different capital gain rates.

c. For most taxpayers and most assets, the rate for long-term (assets held more than a year) capital gains is currently 15%.

d. There is a 25% rate on depreciation recapture.


2. Capital losses

a. Section 1211 limits deductions of capital losses, for the most part to the amount of capital gains. 

b. Individuals can use capital losses against capital gains AND up to $3K of additional capital loss against ordinary income.

c. Corporations can use capital losses against capital gains and then carry capital losses back and forward pursuant to Sec. 1212.



3. Long term and short term capital gains

a. Long-term capital gains are held for more than one year and short term are held for not more than a year.  

b. There is an elaborate series of netting rules for long-term and short-term capital gains.

c. You net the long term capital gains and the short term capital gains.  Then you net the short term and the long term against each other.  



4. Benefits of capital gains treatment

a. Recovery of basis. (Compare sale of stock to receipt of dividends).

b. Eligibility for installment sale
c. Deferral under realization requirement.

d. Preferential rates 


5. What is a capital asset?

a. Section 1221(a) says “the term ‘capital asset’ means property held by the taxpayer (whether or not connected with his trade or business), but does not include . . .”  It goes on to list exceptions

b. The most important excluded category is inventory under section 1221(a)(1). 
i. “Stock in trade of the taxpayer or other property of a kind which would properly included in the inventory of the taxpayer if on hand at the close of the taxable year, or property held by the taxpayer primarily for sale to customers in the ordinary course of business.”

ii. Last phrase is for real property

c. Section 1221(a)(2) excludes “property, used in his trade or business, of a character which is subject to the allowance for depreciation provided in section 167, or real property used in his trade or business. 

i. However, property under this section gets the best of both worlds. 

A. It gets ordinary income treatment if there is a loss.

B. It gets capital gain treatment if there is a gain.

C. This kind of property is known as section 1231 property. 


6. Arguments for and against capital gains preference




a. Not income 

i. Pro:  Unexpected and nonrecurring, wholly unlike wages or other payments for productive effort.

ii. Con:  What about definition based on ability to pay?  For many people, these gains are expected.  Other unexpected receipts are taxes as ordinary income.
b. Bunching 

i. Pro: Realization rules forces reporting in one year of gains accrued over several years and thus subject gains to higher marginal rate.  Special rate works as an averaging device.

ii. Con: Capital assets have had benefit of deferral.  Many taxpayers would have been at highest marginal rate in any case.  Better solutions possible if problem is bunching.   
c. Inflation 

i. Pro:  Capital gains are largely inflationary and thus do not represent economic income.

ii. Con:  Benefit of deferral may exceed detriment of inflation.  Not a good proxy for the issue of inflation.
d. Risk 

i. Pro:  Income tax discourages risk because it reduces expected return, especially given limitations on deducting losses; need special rate to compensate.

ii. Con:  Address loss limitations or encouragement of risk directly.
e. Lock-in 

i. Pro:  Especially given special rules for basis at death, investors will be reluctant to incur tax during life even if prefer another investment.

ii. Con:  Not clear that lock-in is a burden on economy as a whole.  More targeted fixes, such as roll-over or different rules for basis at death, are possible.
f. Savings 





i. Pro: We as a nation need to encourage savings.

ii. Con:  Does special tax rate under income tax in fact encourage national savings to any meaningful degree.

B. Property Held Primarily for Sale to Customers 



1. Dealers vs. Traders




a. Dealers

i. A dealer’s income is based on services in distribution of goods.
ii. Losses and gains are ordinary.  
b. Traders

i. A trader’s income is based on fluctuations in the market value of the securities he trades.
ii. Losses and gains are capital.

c. For securities, the main issue is if the taxpayer is a dealer or trader. 

2. Bielfeldt – Bielfeldt was a trader in Treasury bonds.  He bought large quantities and held them until there was a better price.  If he was deemed a trader in securities, these losses would be capital; if he was deemed a dealer, the losses would be connected with stock in trade and would be ordinary. The court considered him a trader who suffered a capital loss.  

3. Some cases are specific to certain industries and the kind of work that is being done.

4. Section 1221(a)(1) and real estate

a. Biedenharn – The company sold lots which they had improved by adding streets, sewers, water, drainage, and electricity.

i. The issue was if the sale was ordinary income or a capital gain.

ii. The court held that they were dealers, and consequently, that the proceeds from the sale of the lots constituted ordinary income.

iii. The court looked at several factors:

A. Frequency and substantiality of sales

B. Improvements

C. Solicitations and advertising efforts

D. Brokerage’ activities
iv. In this case, the company hired brokers.  However, they were dictating the terms to the brokers; the brokers did not completely take charge.  The court held that the company couldn’t use brokers to shield itself. 

b. For real estate, the basic issue is if the taxpayer is a developer or not.

5. Section 1237 – Real property subdivided for sale not deemed held primarily for sale to customers in ordinary course of business




a. This section is not as useful as it might seem

b. There are lots of conditions

i. Not a corporation 
ii. Not a dealer, 
iii. Tract not held for sale to customers, 
iv. Not hold other property during year of sale for sale to customers, 
v. Hold for 5 years, 
vi. Limits on improvements if held for less than 10 years

c. If a taxpayer sells more than 5 lots, he may owe more under section 1237 than he would under section 1221(a)(1).

d. This provision should be a last resort.

C. Transactions Related to the Taxpayer's Regular Business 


1. Futures contracts

a. A contract for the sale or purchase of a specified amount of a commodity at specified date in the future at a specified price.

b. A form of hedging.

c. Future contracts are generally sold (closed out) rather than there being actual delivery.

d. People are betting on the movement of prices.
2. Corn Products – The taxpayer bought corn futures.  The court held that the income here was ordinary and not capital.  The basis for the holding was unclear.

 
3. Confusion after Corn Products
a. It wasn’t clear if the court was interpreting 1221(a)(1) and calling this inventory or if this holding was making an exception to 1221 capital gain treatment based on whether the taxpayer had a business or an investment purpose.  

b. Everyone used to assume the later.  

c. This interpretation caused many problems.  There was particular conflict in cases involving purchases of stock in another company to ensure source of supply.  

4. Arkansas Best – Arkansas Best was a holding company.  It bought stock in a bank.  It did well for awhile and then started to fail because it had bad real estate investments.  They sold the stock at a loss and claimed it was ordinary income.  

a. They argued under Corn Products that they had a business purpose for investing.  

b. The Supreme Court held that Corn Products was an interpretation of 1221(a)(1).  It was not a broad exception to the definition of capital asset.  

c. Corn Products stands for the narrow proposition that hedging transactions that are an integral part of a business’s inventory purchase system fall within section 1221(a)(1).  

5. Arkansas Best created problems for common currency hedges.  The regulations had to be written regarding hedges and how to identify them as ordinary or not.  

6. From the beginning, transactions have to be identified as hedge or not.  

D. Substitutes for Ordinary Income
1. Hort – The lease of the office space was in issue here.  There was a bank leasing the property.  The annual rent was $25K per year.  The bank decided that it didn’t want to keep the lease.  They agreed to cancel the lease for $140K.  The lessor claimed a loss of $21K.  This was the difference between the present value of the lease and the $140K and the FMV to rent the property again.  

a. The court rejected this argument and held that this was not a loss.  The $140K counts as ordinary income.

2. Sale of an income right, unaccompanied by a disposition of the underlying property, results in ordinary income in an amount equal to the entire proceeds of the sale.  Carved out interests do not qualify as capital assets and do not absorb any portion of the property’s basis.
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